Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 6 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5002	600	CASE	CUP, BIODEGRADABLE, 8 OZ NO-LEAK PAPER CUPS FOR HOT AND COLD BEVERAGES. PE OR PLA LINED. PACKED 1000 PER CASE. SHIP LOT: 200	WHT8HCUP					\$0.00	\$0.00				
5002	600	CASE	CUP, BIODEGRADABLE, 8 OZ NO-LEAK PAPER CUPS FOR HOT AND COLD BEVERAGES. PE OR PLA LINED. PACKED 1000 PER CASE. SHIP LOT: 200	WHT8HCUP	Pactiv D8HCW	Special	1000	600	\$59.50	\$35,700.00		2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days		NO SAMPLE SENT NOT AN APPROVED BRAND
5002	600	CASE	CUP, BIODEGRADABLE, 8 OZ NO-LEAK PAPER CUPS FOR HOT AND COLD BEVERAGES. PE OR PLA LINED. PACKED 1000 PER CASE. SHIP LOT: 200	WHT8HCUP	BWK	#WHT8HCUP	1000/CS	600	\$44.50	\$26,700.00		2-3 WEEKS		APPROVED BRAND
5002	600	CASE	CUP, BIODEGRADABLE, 8 OZ NO-LEAK PAPER CUPS FOR HOT AND COLD BEVERAGES. PE OR PLA LINED. PACKED 1000 PER CASE. SHIP LOT: 200	WHT8HCUP	Boardwalk	BWKWHT8HCUP	1000	600	\$39.82	\$23,892.00		4 weeks	AWARD	APPROVED BRAND
5002	600	CASE	CUP, BIODEGRADABLE, 8 OZ NO-LEAK PAPER CUPS FOR HOT AND COLD BEVERAGES. PE OR PLA LINED. PACKED 1000 PER CASE. SHIP LOT: 200	WHT8HCUP	CRYSTALWARE	PHC82050	1000	600	\$36.41	\$21,846.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5003	600	CASE	LINERS, GARBAGE CAN - Can liners 44 X 54 black LLD. 2.0 milk thickness. Please indicate case count. SHIP LOT: 200	INT 4454 Super-EXH					\$0.00	\$0.00				
5003	600	CASE	LINERS, GARBAGE CAN - Can liners 44 X 54 black LLD. 2.0 milk thickness. Please indicate case count. SHIP LOT: 200	INT 4454 Super-EXH	Hamilton	Special	150	600	\$29.50	\$17,700.00		2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days		NO SAMPLE SENT NOT AN APPROVED BRAND
5003	600	CASE	LINERS, GARBAGE CAN - Can liners 44 X 54 black LLD. 2.0 milk thickness. Please indicate case count. SHIP LOT: 200	INT 4454 Super-EXH	IBS	#4454	100/CS	600	\$33.00	\$19,800.00		2-3 WEEKS	AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5006	250	CASE	FILM, LIDDING, POLYESTER, DUAL OVENABLE, LOGO, COLOR PRINTED. HOT LIDDING MACHINE. Seal coating wound inside. Ovensafe up to 400 degrees (minimum thickness - 100 gauge). Approximately 10 3/8" width x 5100' length x 3" core. Film must be individually wrapped and cartoned. Color Printed ("Memphis-Shelby County Schools") Logo Details - Logo Size: = 1.5" in circumference, Format: Adobe Illustrator CS5. Fonts: outlined, Colors: 5 spot (placement is right, centered and left, spaced .5" apart throughout length of the roll) Black, PMS 286 Blue, PMS 187 Red, PMS 123 Gold. White underlay is a separate layer, all other colors should overprint. Please refer to the MSCS website under the Communications Link for logo specifications. SAMPLES MUST BE SUBMITTED PRIOR TO BID OPENING.	FORM PLASTICS COMPANY (9785-5100DPCP)					\$0.00	\$0.00			NO BID	
5007	2,016	CASE	TRAY, 2 CELL COLD - Material minimum 14 mil OPS Heat sealable. Item Dimensions 8 3/4" X 6 3/8" X 2". Packed approximately 600 per case. Indicate if packed differently SHIP LOT: 672 cases	PREFERRED PLASTICS- CON-SLOW-2C					\$0.00	\$0.00				
5011	500	CASE	DELI SHEETS, - Flat dry waxed paper with full wet strength. Red checked with 1/2" plaid. Moisture and grease resistant for hot foods. Packed 6000 sheets per case. If packed differently please indicate. Ship Lot: 250	BROWN 789 - RC					\$0.00	\$0.00				
5011	500	CASE	DELI SHEETS, - Flat dry waxed paper with full wet strength. Red checked with 1/2" plaid. Moisture and grease resistant for hot foods. Packed 6000 sheets per case. If packed differently please indicate. Ship Lot: 250	BROWN 7B9 - RC	McNairn 110840	41930	2000	1500	\$47.00	\$23,500.00	packed 2000 per case. Brown is not providing pricing on school bids for 2023-2024	2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND
5011	500	CASE	DELI SHEETS, - Flat dry waxed paper with full wet strength. Red checked with 1/2" plaid. Moisture and grease resistant for hot foods. Packed 6000 sheets per case. If packed differently please indicate. Ship Lot: 250	BROWN 789 - RC	BROWN	#7B3	6000/CS	500	\$61.80	\$30,900.00		2-3 WEEKS	AWARD	APPROVED BRAND
5011	500	CASE	DELI SHEETS, - Flat dry waxed paper with full wet strength. Red checked with 1/2" plaid. Moisture and grease resistant for hot foods. Packed 6000 sheets per case. If packed differently please indicate. Ship Lot: 250	BROWN 789 - RC	BagCraft	BGC057700	5000	500	\$142.01	\$71,006.10		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5012	800	CASE	FOIL, ALUMINIUM, HEAVY DUTY. Approximately 24 inches by 1000 feet per roll. Must be at least 001 mil inch thickness. SHIP LOT: 25	SYSCO/PACTIV/REYNOLDS (W69323) PACTIV 627 REYNOLDS 627 WESTERN FOIL 242 REDDI AFW24X1000H DAXWELL J10003532 DURABLE 92410					\$0.00	\$0.00				
5012	800	CASE	FOIL, ALUMINIUM, HEAVY DUTY. Approximately 24 inches by 1000 feet per roll. Must be at least 001 mil inch thickness. SHIP LOT: 25	SYSCO/PACTIV/REYNOLDS (W69323) PACTIV 627 REYNOLDS 627 WESTERN FOIL 242 REDDI AFW24X1000H DAXWELL J10003532 DURABLE 92410	Victoria Bay	34319	24 x 1000'	800	\$63.50	\$50,800.00		2-3 business Days		SAMPLE SENT- ADD AS APPROVED BRAND
5012	800	CASE	FOIL, ALUMINIUM, HEAVY DUTY. Approximately 24 inches by 1000 feet per roll. Must be at least 001 mil inch thickness. SHIP LOT: 25	SYSCO/PACTIV/REYNOLDS (W69323) PACTIV 627 REYNOLDS 627 WESTERN FOIL 242 REDDI AFW24X1000H DAXWELL J10003532 DURABLE 92410	Daxwell Distribution	J10003532	1	800	\$57.97	\$46,376.00		14 business days from receipt of purchase order	AWARD	APPROVED BRAND
5012	800	CASE	FOIL, ALUMINIUM, HEAVY DUTY. Approximately 24 inches by 1000 feet per roll. Must be at least 001 mil inch thickness. SHIP LOT: 25	SYSCO/PACTIV/REYNOLDS (W69323) PACTIV 627 REYNOLDS 627 WESTERN FOIL 242 REDDI AFW24X1000H DAXWELL J10003532 DURABLE 92410	REDDI	#AFW24X1000H	1 ROLL/CASE	800	\$72.25	\$57,800.00	Ship Lot = 144 rolls 48cs/PALLET	2-3 WEEKS		APPROVED BRAND
5012	800	CASE	FOIL, ALUMINIUM, HEAVY DUTY. Approximately 24 inches by 1000 feet per roll. Must be at least 001 mil inch thickness. SHIP LOT: 25	SYSCO/PACTIV/REYNOLDS (W69323) PACTIV 627 REYNOLDS 627 WESTERN FOIL 242 REDDI AFW24X1000H DAXWELL J10003532 DURABLE 92410		DPK92410	1	800	\$200.04	\$160,029.27		4 weeks		APPROVED BRAND
5012	800	CASE	FOIL, ALUMINIUM, HEAVY DUTY. Approximately 24 inches by 1000 feet per roll. Must be at least 001 mil inch thickness. SHIP LOT: 25	SYSCO/PACTIV/REYNOLDS (W69323) PACTIV 627 REYNOLDS 627 WESTERN FOIL 242 REDDI AFW24X1000H DAXWELL J10003532 DURABLE 92410	CRYSTALWARE	245HVY	24X500	1600	\$29.11	\$23,288.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5014	600	CASE	APRON, VINYL, POLY, DISPOSABLE, WHITE. HEAVY WEIGHT WITH LONG TIES. NO DESIGN ON APRON. APPROXIMATE SIZE 46 INCH LONG X 28 INCH WIDE. PACKED APPROXIMATELY 500/CASE. SHIP LOT: 100	Food Handler-250-FH10(114642) FoodHandler 250 - Fh3L IBS-AP2846 - 200PK INT-2846-DA					\$0.00	\$0.00				
5014	600	CASE	APRON, VINYL, POLY, DISPOSABLE, WHITE. HEAVY WEIGHT WITH LONG TIES. NO DESIGN ON APRON. APPROXIMATE SIZE 46 INCH LONG X 28 INCH WIDE. PACKED APPROXIMATELY 500/CASE. SHIP LOT: 100	Food Handler-250-FH10(114642) FoodHandler 250 - Fh3L IBS-AP2846 - 200PK INT-2846-DA	Elkay Plastics	372010	100	3000	\$11.75	\$7,050.00	Packed 100 per case.	2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5014	600	CASE	APRON, VINYL, POLY, DISPOSABLE, WHITE. HEAVY WEIGHT WITH LONG TIES. NO DESIGN ON APRON. APPROXIMATE SIZE 46 INCH LONG X 28 INCH WIDE. PACKED APPROXIMATELY 500/CASE. SHIP LOT: 100	Food Handler-250-FH10(114642) FoodHandler 250 - Fh31 IBS-AP2846 - 200PK INT-2846-DA	IBS	#AP2846	1000/CS	600	\$55.00	\$33,000.00	55.00 PER CASE OF 1000/CS = 5.50/100 Aprons	2-3 WEEKS	AWARD	APPROVED BRAND
5014	600	CASE	APRON, VINYL, POLY, DISPOSABLE,WHITE. HEAVY WEIGHT WITH LONG TIES. NO DESIGN ON APRON. APPROXIMATE SIZE 46 INCH LONG X 28 INCH WIDE. PACKED APPROXIMATELY 500/CASE. SHIP LOT: 100	Food Handler-250-FH10(114642) FoodHandler 250 - Fh3L IBS-AP2846 - 200PK INT-2846-DA	AmerCare Royal		500	600	\$219.65	\$131,790.00		Awada		NO SAMPLE SENT NOT AN APPROVED BRAND
			APRON, VINYL, POLY, DISPOSABLE, WHITE. HEAVY	Food Handler-250-FH10(114642)	CRYSTALWARE	RPPRPA20HW	500					4 weeks		
5014	600	CASE	WEIGHT WITH LONG TIES. NO DESIGN ON APRON. APPROXIMATE SIZE 46 INCH LONG X 28 INCH WIDE. PACKED APPROXIMATELY 500/CASE.	FoodHandler 250 - Fh3L IBS-AP2846 - 200PK INT-2846-DA	Construction				\$32.10	\$19,260.00				NO SAMPLE SENT NOT AN APPROVED BRAND
			SHIP LOT: 100			CRYSTALWARE	500	600						
5019	300	BUNDLE	BOXES, CORRUGATED, 24 X 19 X 13. CONTAINERS ARE TO BE 200 POUND TEST, RSC, C-FLUTED, GLUED INSIDE, PLAIN, BUNDLED AND/OR UNITIZED. 125 BOXES PER BUNDLE. SHIP LOT: 25 BUNDLES	AMERICAN PAPER & TWINE COMPANY 958144 GEORGIA PACIFIC (241913) GIBSON/SIGMA SUPPLY 241913 RUSKEN PACKAGING 494227					\$0.00	\$0.00				
5019	300	BUNDLE	BOXES, CORRUGATED, 24 X 19 X 13. CONTAINERS ARE TO BE 200 POUND TEST, RSC, C-FLUTED, GLUED INSIDE, PLAIN, BUNDLED AND/OR UNITIZED. 125 BOXES PER BUNDLE. SHIP LOT: 25 BUNDLES	AMERICAN PAPER & TWINE COMPANY 958144 GEORGIA PACIFIC (241913) GIBSON/SIGMA SUPPLY 241913 RUSKEN PACKAGING 494227	American Paper & Twine	958144	125	300	\$250.00	\$75,000.00		2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days	AWARD	APPROVED BRAND
5020	800	EACH	MOPS, DECK WET, 32 oz Heavy duty, one piece 4-Ply wound Cotton Yarn, clear Lacquered 1 1/8 IN. X 48 IN. wooden handle. SHIP LOT: 12 Bundles	ABCO 50321 ABCO (CD-50024) CALICO CD-50024					\$0.00	\$0.00				
5020	800	EACH	MOPS, DECK WET, 32 oz Heavy duty, one piece 4-Ply wound Cotton Yarn, clear Lacquered 1 1/8 IN. X 48 IN. wooden handle. SHIP LOT: 12 Bundles		O'Dell	47887	Each	800	\$7.50	\$6,000.00	These are sold in multiples of 6 each, but the price listed is the each price.	2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND
5020	800	EACH	MOPS, DECK WET, 32 oz Heavy duty, one piece 4-Ply wound Cotton Yarn, clear Lacquered 1 1/8 IN. X 48 IN. wooden handle. SHIP LOT: 12 Bundles	ABCO 50321 ABCO (CD-50024) CALICO CD-50024	ABCO	#50321	EACH	800	\$5.92	\$4,736.00	SHIP LOT IS 25DZ=300EACH	2-3 WEEKS	AWARD	APPROVED BRAND
5020	800	EACH	MOPS, DECK WET, 32 oz Heavy duty, one piece 4-Ply wound Cotton Yarn, clear Lacquered 1 1/8 IN. X 48 IN. wooden handle. SHIP LOT: 12 Bundles	ABCO 50321 ABCO (CD-50024) CALICO CD- 50024	boardwalk	BWKCM20032	12	800	\$69.66	\$55,726.83		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5021	200	BUNDLE	BOXES, CORRUGATED, 19 X 16 X 13. NOTE: ABOVE CONTAINERS ARE TO BE 200 POUND TEST, RSC, C-FLUTED, GLUED INSIDE, PLAIN, BUNDLED AND/OR UNITIZED. 125 BOXES PER BUNDLE. SHIP LOT: 25 BUNDLES	AMERICAN PAPER & TWINE COMPANY/ GEORGIA PACIFIC 965619 Rusken Packaging 327626 GIBSON/SIGMA SUPPLY 191613					\$0.00	\$0.00				
5021	200	BUNDLE	BOXES, CORRUGATED, 19 X 16 X 13. NOTE: ABOVE CONTAINERS ARE TO BE 200 POUND TEST, RSC, C-FLUTED, GLUED INSIDE, PLAIN, BUNDLED AND/OR UNITIZED. 125 BOXES PER BUNDLE. SHIP LOT: 25 BUNDLES	AMERICAN PAPER & TWINE COMPANY/ GEORGIA PACIFIC 965619 Rusken Packaging 327626 GIBSON/SIGMA SUPPLY 191613	American Paper & Twine	965619	125	200	\$184.00	\$36,800.00		2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days	AWARD	APPROVED BRAND
5022	50	DOZ	BROOM, STRAW. ALL CORN, 4 SEW, YELLOW STITCHING, NO.32 ALL CORN, BROOM HANDLE NATURAL COLOR WITH CLEAR COATING, AND HEIGHT OF AT LEAST 52 INCHES. A.P. MILLS 2050 PLEASE PALLETIZE AND SHRINK WRAP. SHIP LOT: 25 DOZ.	HOUSEKEEPERS SUPPLY/ ABCO (00308-NB) RUBBERMAID FG638300-9000					\$0.00	\$0.00				
5022	50	DOZ	BROOM, STRAW. ALL CORN, 4 SEW, YELLOW STITCHING, NO.32 ALL CORN, BROOM HANDLE NATURAL COLOR WITH CLEAR COATING, AND HEIGHT OF AT LEAST 52 INCHES. A.P. MILLS 2050 PLEASE PALLETIZE AND SHRINK WRAP. SHIP LOT: 25 DOZ.	HOUSEKEEPERS SUPPLY/ ABCO (00308-NB) RUBBERMAID FG638300-9000	Janico	170011	Each	600	\$8.80	\$440.00		2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND
5022	50	DOZ	BROOM, STRAW. ALL CORN, 4 SEW, YELLOW STITCHING, NO.32 ALL CORN, BROOM HANDLE NATURAL COLOR WITH CLEAR COATING, AND HEIGHT OF AT LEAST 52 INCHES. A.P. MILLS 2050 PLEASE PALLETIZE AND SHRINK WRAP. SHIP LOT: 25 DOZ.	HOUSEKEEPERS SUPPLY/ ABCO (00308-NB) RUBBERMAID FG638300-9000	ABCO	#00308-NB	DOZEN	50	\$9.10	\$455.00	SHIP LOT 25DZ = 300 EACH	2-3 WEEKS	AWARD	APPROVED BRAND
5022	50	DOZ	BROOM, STRAW. ALL CORN, 4 SEW, YELLOW STITCHING, NO.32 ALL CORN, BROOM HANDLE NATURAL COLOR WITH CLEAR COATING, AND HEIGHT OF AT LEAST 52 INCHES. A.P. MILLS 2050 PLEASE PALLETIZE AND SHRINK WRAP. SHIP LOT: 25 DOZ.	HOUSEKEEPERS SUPPLY/ ABCO (00308-NB) RUBBERMAID FG638300-9000	Boardwalk	bwk926yea	12	50	\$123.80	\$6,190.00		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4 SALAD CONTAINER, BOWL, SQUARE 24 OUNCE,	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5024	1,200	CASE	MEDIUM. Approximately 7.5" x 7.5" x 1.5" No PVC. 1/4" FLAT flange with no lip. All containers must efficiently function through entire automated packaging system. All bowl configurations must be able to denest, fully seat into the flight pocket, seal completely to an air tight/water tight seal, flow through the cutting station and discharge efficiently. Uniform de-nesting lugs or similar required for the automated denester (tray loader). Bowl must be made of medium weight black or clear plastic. Approximate Pack 300 per case. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5053 (Salad Bowl Lid) and the lowest combined price will prevail.	AMERICAN PAPER & TWINE					\$0.00	\$0.00				
5024	1,200	CASE	SALAD CONTAINER, BOWL, SQUARE 24 OUNCE, MEDIUM. Approximately 7.5" x 7.5" x 1.5" No PVC. 1/4" FLAT flange with no lip. All containers must efficiently function through entire automated packaging system. All bowl configurations must be able to denest, fully seat into the flight pocket, seal completely to an air tight/water tight seal, flow through the cutting station and discharge efficiently. Uniform de-nesting lugs or similar required for the automated denester (tray loader). Bowl must be made of medium weight black or clear plastic. Approximate Pack 300 per case. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5053 (Salad Bowl Lid) and the lowest combined price will prevail.	AMERICAN PAPER & TWINE	WNA 5DD024BK	968748	300	1200	\$60.00	\$72,000.00		2-3 weeksFRO		APPROVED BRAND
5024	1,200	CASE			PARPAK	5DD024BK	300	1200	\$53.36	\$64,032.00			AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	9,000	CASE	Column 4 GARBAGE LINER, CLEAR - Can liners 34 x 49 CLEAR SUPER HEXENE WITH NO REPROCESSED RESIN ADDED. MUST HAVE "STAR SEALED" BOTTOM CONFIGURATION. 2.0 mil thickness. Please indicate case count. SHIP LOT: 200	Column 5 UNIPAK CORP 492CO CALICO 99SP34X492CLR	Column 6	Column 7	Column 8	Column 9	\$0.00	\$0.00	Column 12	Column 13	Column 14	Column 15
5025	9,000	CASE	GARBAGE LINER, CLEAR - Can liners 34 x 49 CLEAR SUPER HEXENE WITH NO REPROCESSED RESIN ADDED. MUST HAVE "STAR SEALED" BOTTOM CONFIGURATION. 2.0 mil thickness. Please Indicate case count. SHIP LOT: 200	UNIPAK CORP 492CO CALICO 99SP34X492CLR	Hamilton	special	100	9000	\$20.99	\$188,910.00	This is a special bag, so sample was not avaailbe, but Hamitlon is a preferred APT vendor.	2-3 weeksFRO		NO SAMPLE SENT NOT AN APPROVED BRAND
5025	9,000	CASE	GARBAGE LINER, CLEAR - Can liners 34 x 49 CLEAR SUPER HEXENE WITH NO REPROCESSED RESIN ADDED. MUST HAVE "STAR SEALED" BOTTOM CONFIGURATION. 2.0 mil thickness. Please indicate case count. SHIP LOT: 200	UNIPAK CORP 492CO CALICO 99SP34X492CLR	Calico	99SP34X492CLR	100/cs	9000	\$30.24	\$272,160.00	BIDDING AS SPECIFIED	2-3 WEEKS		APPROVED BRAND
5025	9,000	CASE	GARBAGE LINER, CLEAR - Can liners 34 x 49 CLEAR SUPER HEXENE WITH NO REPROCESSED RESIN ADDED. MUST HAVE "STAR SEALED" BOTTOM CONFIGURATION. 2.0 mil thickness. Please indicate case count. SHIP LOT: 200	UNIPAK CORP 492CO CALICO 99SP34X492CLR	IBS	#344492C	100/cs	9000	\$26.65	\$239,850.00	34X49 2MIL 100/CS STAR SEALED	2-3 WEEKS		NO SAMPLE SENT NOT AN APPROVED BRAND
5025	9,000	CASE	GARBAGE LINER, CLEAR - Can liners 34 x 49 CLEAR SUPER HEXENE WITH NO REPROCESSED RESIN ADDED. MUST HAVE "STAR SEALED" BOTTOM CONFIGURATION. 2.0 mil thickness. Please indicate case count. SHIP LOT: 200	UNIPAK CORP 492CO CALICO 99SP34X492CLR	Unipak Corp.	492CO	100	9000	\$22.20	\$199,800.00		2	AWARD	APPROVED BRAND
5027	600	CASE	SOUFFLE CUPS, 2 OUNCE, CYLINDRICAL/ROUND. CLEAR OR TRANSLUCENT PLASTIC FOOD CONTAINER. APPROXIMATELY 2500 CUPS PER CASE. IF DIFFERENT SPECIFY. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5045 (Lid) and the lowest combined price will prevail. SHIP LOT: 100	SYSCO MEMPHIS/PACTIV (7790239) SOLO B200N-0100 PACTIV YL5-200 PRIME SOURCE S200 DAXWELL E10002024					\$0.00	\$0.00				

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5027	600	CASE	SOUFFLE CUPS, 2 OUNCE, CYLINDRICAL/ROUND. CLEAR OR TRANSLUCENT PLASTIC FOOD CONTAINER. APPROXIMATELY 2500 CUPS PER CASE. IF DIFFERENT SPECIFY. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5045 (Lid) and the lowest combined price will prevail. SHIP LOT: 100	SYSCO MEMPHIS/PACTIV (7790239)	Victoria Bay	280053	2500	600	\$22.00	\$13,200.00	We stock these, but will want to get a release forecast to meet demand	2-3 business Days		SAMPLE SENT- ADD AS APPROVED BRAND
5027	600	CASE	SOUFFLE CUPS, 2 OUNCE, CYLINDRICAL/ROUND. CLEAR OR TRANSLUCENT PLASTIC FOOD CONTAINER. APPROXIMATELY 2500 CUPS PER CASE. IF DIFFERENT SPECIFY. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5045 (Lid) and the lowest combined price will prevail.	SYSCO MEMPHIS/PACTIV (7790239) SOLO B200N-0100 PACTIV YL5-200 PRIME SOURCE S200 DAXWELL E10002024	Daxwell Distribution	E10002024	2500	600	\$16.92	\$10,152.00		14 business days from receipt of purchase order	AWARD	APPROVED BRAND
5027	600	CASE	SOUFFLE CUPS, 2 OUNCE, CYLINDRICAL/ROUND. CLEAR OR TRANSLUCENT PLASTIC FOOD CONTAINER. APPROXIMATELY 2500 CUPS PER CASE. IF DIFFERENT SPECIFY. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5045 (Lid) and the lowest combined price will prevail.	SYSCO MEMPHIS/PACTIV (7790239) SOLO B200N-0100	PRIME SOURCE	#S200	2500/CS	600	\$22.44	\$13,464.00		2-3 WEEKS		APPROVED BRAND
5027	600	CASE	SPECIFY. For Shelby County Board of Education to select	SOLO B200N-0100 PACTIV YL5-200	PRIME SOURCE	PP200	2500	600	\$20.41	\$12,246.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5029	900	CASE	WRAP, FILM POLY- Poly film wrap made for an automatic pallet wrapping machine. One sided cling clear film. SHIP LOT: 100	WESTERN WXL16					\$0.00	\$0.00				
5029	900	CASE	WRAP, FILM POLY- Poly film wrap made for an automatic pallet wrapping machine. One sided cling clear film. SHIP LOT: 100	WESTERN WXL16	American Paper & Twine	181257	40 rolls	900	\$47.50	\$42,750.00	This is the Film the schools have been using , and there are 40 rolls on a pallet.	2-3 business Days		APPROVED BRAND
5029	900	CASE	WRAP, FILM POLY- Poly film wrap made for an automatic pallet wrapping machine. One sided cling clear film. SHIP LOT: 100	WESTERN WXL16	WESTERN	#WXL16	1 ROLL/CASE	900	\$32.28	\$29,052.00		2-3 WEEKS		APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4 WRAP, FILM POLY- Poly film wrap made for an	Column 5 WESTERN WXL16	Column 6 WESTERN	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5029	900	CASE	www.p.tuw.potr-poly lim wrap made for an automatic pallet wrapping machine. One sided cling clear film. SHIP LOT: 100	WESTERN WALLO	WESTERN	WXL16	20X5000	900	\$30.47	\$27,423.00			AWARD	APPROVED BRAND
5032	600	ROLL	FILM, SANDWICH. APPROXIMATELY 12 INCHES X 2000 FEET PER ROLL, IN DISPENSER BOX WITH METAL CUTTER, POLY-VINYL. SHIP LOT: 200 ROLLS	BORDEN (30550200) BORDEN (30550200) BORDEN 38 WESTERN 122P PACTIV 487546 VALUE PLUS 7803109 HOUSEKEEPERS SUPPLY FSW1202K-IBS DURABLE PVC1820 DAXWELL J20004597					\$0.00	\$0.00				
5032	600	ROLL	FILM, SANDWICH. APPROXIMATELY 12 INCHES X 2000 FEET PER ROLL, IN DISPENSER BOX WITH METAL CUTTER, POLY-VINYL. SHIP LOT: 200 ROLLS	BORDEN (30550200) BORDEN (30550200) BORDEN 38 WESTERN 122P PACTIV 487546 VALUE PLUS 7803109 HOUSEKEEPERS SUPPLY FSW1202K-IBS DURABLE PVC1820 J20004597	American Paper & Twine	180026	12 x 2000'	600	\$10.25	\$6,150.00	We stock these, but will want to get a release forecast to meet demand	2-3 business Days		APPROVED BRAND
5032	600	ROLL	FILM, SANDWICH. APPROXIMATELY 12 INCHES X 2000 FEET PER ROLL, IN DISPENSER BOX WITH METAL CUTTER, POLY-VINYL. SHIP LOT: 200 ROLLS	BORDEN (30550200) BORDEN 38 WESTERN 122P PACTIV 487546 VALUE PLUS 7803109 HOUSEKEEPERS SUPPLY FSW1202K-IBS DURABLE PVC1820 J20004597	Daxwell Distribution	J120004597	1	600	\$9.48	\$5,688.00		14 business days from receipt of purchase order		APPROVED BRAND
5032	600	ROLL	FILM, SANDWICH. APPROXIMATELY 12 INCHES X 2000 FEET PER ROLL, IN DISPENSER BOX WITH METAL CUTTER, POLY-VINYL. SHIP LOT: 200 ROLLS	BORDEN (30550200) BORDEN 38 WESTERN 122P PACTIV 487546 VALUE PLUS 7803109 HOUSEKEEPERS SUPPLY FSW1202K-IBS DURABLE PVC1820 J20004597	IBS	#FSW1202K	ROLL	600	\$9.03	\$5,418.00		2-3 WEEKS	AWARD	APPROVED BRAND
5032	600	ROLL	FILM, SANDWICH. APPROXIMATELY 12 INCHES X 2000 FEET PER ROLL, IN DISPENSER BOX WITH METAL CUTTER, POLY-VINYL. SHIP LOT: 200 ROLLS		Boardwalk	BWK7202	1	600	\$12.54	\$7,521.95		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5032	600	ROLL	FILM, SANDWICH. APPROXIMATELY 12 INCHES X 2000 FEET PER ROLL, IN DISPENSER BOX WITH METAL CUTTER, POLY-VINYL. SHIP LOT: 200 ROLLS		Western	122P	12x2000	600	\$9.40	\$5,640.00		7 days		APPROVED BRAND
5033	800	ROLL	FILM, SANDWICH. APPROXIMATELY 18 INCHES X 2000 FEET PER ROLL, IN DISPENSER BOX WITH METAL CUTTER, POLY-VINYL. SHIP LOT: 200 ROLLS						\$0.00	\$0.00				
5033	800	ROLL	FILM, SANDWICH. APPROXIMATELY 18 INCHES X 2000 FEET PER ROLL, IN DISPENSER BOX WITH METAL CUTTER, POLY-VINYL. SHIP LOT: 200 ROLLS	BORDEN 21W1A WESTERN 182P - DAXWELL J20004598 PACTIV/VALUEPLUS 7803141 HOUSEKEEPERS SUPPLY FSW1802K-IBS DURABLE PVC1820 GFS/ANCHOR 7329182	Pactiv 914	180027	18 x 2000'	800	\$13.65	\$10,920.00		2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days		NO SAMPLE SENT NOT AN APPROVED BRAND
5033	800	ROLL	FILM, SANDWICH. APPROXIMATELY 18 INCHES X 2000 FEET PER ROLL, IN DISPENSER BOX WITH METAL CUTTER, POLY-VINYL. SHIP LOT: 200 ROLLS	BORDEN 21W1A WESTERN 182P - DAXWELL J20004598 PACTIV/VALUEPLUS 7803141 HOUSEKEEPERS SUPPLY FSW1802K-IBS DURABLE PVC1820	Daxwell Distribution	J20004598	1	800	\$12.90	\$10,320.00		14 business days from receipt of purchase order	AWARD	APPROVED BRAND
5033	800	ROLL	FILM, SANDWICH. APPROXIMATELY 18 INCHES X 2000 FEET PER ROLL, IN DISPENSER BOX WITH METAL CUTTER, POLY-VINYL. SHIP LOT: 200 ROLLS		IBS	#FSW1802K	ROLL	800	\$16.34	\$13,072.00		2-3 WEEKS		NO SAMPLE SENT NOT AN APPROVED BRAND
5033	800	ROLL	SHIP LOT: 200 ROLLS	AMERICAN PAPER & TWINE COMPANY/	Boardwalk	BWK7204	1	800	\$18.02	\$14,419.51		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5033	800	ROLL			Western	182P	18x2000	800	\$13.33	\$10,664.00				APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1 5034	1,200	Column 3	Column 4 SOS LUNCH BAG - 18x11x32cm EACH. WHITE KRAFT PAPER BAGS NEED TO BE LABELED HOT WITH THE MEMPHIS-SHELBY COUNTY SCHOOLS LOGO ON TOP. Please refer to the MSCS website under the Communications Link for logo specifications. SHIP LOT: 200	Column 5 VENDISCO HOT	Column 6	Column 7	Column 8	Column 9	\$0.00	\$0.00	Column 12	Column 13	Column 14	Column 15
5034	1,200	CASE	SOS LUNCH BAG - 18x11x32cm EACH. WHITE KRAFT PAPER BAGS NEED TO BE LABELED HOT WITH THE MEMPHIS-SHELBY COUNTY SCHOOLS LOGO ON TOP. Please refer to the MSCS website under the Communications Link for logo specifications. SHIP LOT: 200	VENDISCO HOT	Vendisco	SOSPaperBag(Hot)	1000	1200	\$231.25	\$277,500.00		1	AWARD	APPROVED BRAND
5036	1,200	ROLL	ROLL, WRAP, STRETCH. DIMENSIONS: APPROXIMATELY 18: X 1500' EACH. EACH ROLL MUST BE A MINIMUM OF 80 GAUGE. PALLET HAND WRAP. SHIP LOT: 160	SIGMA SUPPLY INC./ SIGMA PLASTICS HBH 1811580 AEP INDUSTRIES HH-1880 APT 181209					\$0.00	\$0.00				
5036	1,200	ROLL	ROLL, WRAP, STRETCH. DIMENSIONS: APPROXIMATELY 18: X 1500' EACH. EACH ROLL MUST BE A MINIMUM OF 80 GAUGE. PALLET HAND WRAP. SHIP LOT: 160	SIGMA SUPPLY INC./ SIGMA PLASTICS HBH 1811580 AEP INDUSTRIES HH-1880 APT 181209	Sigma	181209	18 x 1500' 80 GA	300	\$11.20	\$13,440.00	Sold by the case, with 4 rolls in each case. Case price is \$44.80, roll price is \$11.20	2-3 business Days	AWARD	APPROVED BRAND
5036	1,200	ROLL	ROLL, WRAP, STRETCH. DIMENSIONS: APPROXIMATELY 18: X 1500' EACH. EACH ROLL MUST BE A MINIMUM OF 80 GAUGE. PALLET HAND WRAP. SHIP LOT: 160	SIGMA SUPPLY INC./ SIGMA PLASTICS HBH 1811580 AEP INDUSTRIES HH-1880 APT 181209	WESSTERN	#PSB80	4 ROLLS/CASE	1200	\$10.88	\$13,056.00		2-3 WEEKS		NO SAMPLE SENT NOT AN APPROVED BRAND
5036	1,200	ROLL	ROLL, WRAP, STRETCH. DIMENSIONS: APPROXIMATELY 18: X 1500' EACH. EACH ROLL MUST BE A MINIMUM OF 80 GAUGE. PALLET HAND WRAP. SHIP LOT: 160		Western	PSB80	18X1500 80 GA	1200	\$10.55	\$12,660.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5037	400	CASE	GLOVES,VINYL, SEAMLESS, POWDERLESS, EXTRA LARGE - Extra Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200	DAXWELL (F10001749) WALLACE VPF-X4 HOUSKEEPERS IBS VF 004 INTERBORO - MED PRIDE XL-VPFG UNIPAK VPF-XL CALICO "THE SAFETY ZONE" GVP9-XL					\$0.00	\$0.00				
5037	400	CASE	GLOVES,VINYL, SEAMLESS, POWDERLESS, EXTRA LARGE - Extra Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200	DAXWELL (F10001749) WALLACE VPF-X4 HOUSKEEPERS IBS VF 004 INTERBORO - MED PRIDE XL-VPFG UNIPAK VPF-XL CALICO "THE SAFETY ZONE" GVP9-XL	Amercare 22994	47992	10/100	400	\$22.00	\$8,800.00		2-3 business Days		SAMPLE SENT ADD AS APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1 5037	Column 2	Column 3	Column 4 GLOVES,VINYL, SEAMLESS, POWDERLESS, EXTRA LARGE - Extra Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200	Column 5 DAXWELL (F10001749) WALLACE VPF-X4 HOUSKEEPERS IBS VF 004 INTERBORO - MED PRIDE XL-VPFG UNIPAK VPF-XL CALICO "THE SAFETY ZONE" GVP9-XL	Column 6 Daxwell Distribution	Column 7	Column 8	Column 9 400	Column 10 \$15.21	Column 11 \$6,084.00	Column 12	Column 13 14 business days from receipt of purchase order	Column 14 AWARD	Column 15 APPROVED BRAND
5037	400	CASE	GLOVES,VINYL, SEAMLESS, POWDERLESS, EXTRA LARGE - Extra Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200	DAXWELL (F10001749) WALLACE VPF-X4 HOUSKEEPERS IBS VF 004 INTERBORO - MED PRIDE XL-VPFG UNIPAK VPF-XL CALICO "THE SAFETY ZONE" GVP9-XL	IBS	#VF004	100/BX 1000/CS	400	\$17.92	\$7,168.00		2-3 WEEKS		APPROVED BRAND
5037	400	CASE	GLOVES,VINYL, SEAMLESS, POWDERLESS, EXTRA LARGE - Extra Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200	DAXWELL (F10001749) WALLACE VPF-X4 HOUSKEEPERS IBS VF 004 INTERBORO - MED PRIDE XL-VPFG UNIPAK VPF-XL CALICO "THE SAFETY ZONE" GVP9-XL	Unipak	VPF-XL	100/10	400	\$15.30	\$6,120.00		2		APPROVED BRAND
5037	400	CASE			Boardwalk	BWK315XLCT	1000	400	\$25.91	\$10,365.85		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5037	400	CASE	color. Approximate pack 100/box, 10 boxes per case. Please bid by the case.	DAXWELL (F10001749) WALLACE VPF-X4 HOUSKEEPERS IBS VF 004 INTERBORO - MED PRIDE XL-VPFG UNIPAK VPF-XL CALICO "THE SAFETY ZONE" GVP9-XL	IBS	VF004	10/100	400	\$16.71	\$6,684.00				APPROVED BRAND
5039	300	CASE	HAIR NETS, INVISIBLE NYLON WITH ELASTIC. FINE MESH, REGULAR, FULL SIZE, COLOR DARK BROWN OR BLACK. PACK 144 PER BOX. THIS ITEM IS PURCHASED BY THE CASE SHIP LOT: 100	SEIDMAN (DPLW144DB) KEYSTONE 1091 CELLCAP HN4DB FLAVOSEAL HN-BN24 MED PRIDE 70424 INTERBORO PACKAGING 70424-305					\$0.00	\$0.00				
5039	300	CASE	HAIR NETS, INVISIBLE NYLON WITH ELASTIC. FINE MESH, REGULAR, FULL SIZE, COLOR DARK BROWN OR BLACK. PACK 144 PER BOX. THIS ITEM IS PURCHASED BY THE CASE SHIP LOT: 100	SEIDMAN (DPLW144DB) KEYSTONE 1091 CELLCAP HN4DB FLAVOSEAL HN-BN24 MED PRIDE 70424 INTERBORO PACKAGING 70424-305	Cellucap HN4DB	944246	10/144	300	\$88.88	\$26,664.00	\$88.88 is a case price. There are 10 boxes of 144 each in a case, or 1440 per case.	2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days	AWARD	APPROVED BRAND
5039	300	CASE	BLACK. PACK 144 PER BOX. THIS ITEM IS PURCHASED BY THE CASE	SEIDMAN (DPLW144DB) KEYSTONE 1091 CELLCAP HN4DB FLAVOSEAL HN-BN24 MED PRIDE 70424 INTERBORO PACKAGING 70424-305	AmerCare Royal	RPPRPH144LTLb	2880	300	\$359.46	\$107,838.00		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5039	300	CASE	HAIR NETS, INVISIBLE NYLON WITH ELASTIC. FINE MESH, REGULAR, FULL SIZE, COLOR DARK BROWN OR BLACK. PACK 144 PER BOX. THIS ITEM IS PURCHASED BY THE CASE SHIP LOT: 100	SEIDMAN (DPLW144DB) KEYSTONE 1091 CELLCAP HN4DB FLAVOSEAL HN-BN24 MED PRIDE 70424 INTERBORO PACKAGING 70424-305	CRYSTALWARE	SHN22BL1440	1440	300	\$68.00	\$20,400.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5040	200	DOZEN	POT HOLDER, SIZE APPROXIMATELY 8 1/2"X 11". 100% NEW FLEXON COTTON YARN, WEIGHT APPROXIMATELY 32 OUNCES TO A SQUARE YARD, DOUBLE BONDED. SHIP LOT: 25 Dozen	HORACE MADDOX TEXTILES #PH-10 1 CALICO (15PH1C) JOHN RITZENTHLER PG1MPU (422955) MCR - 9432P - 900002 BUCCANEER 911BP					\$0.00	\$0.00				
5040	200	DOZEN	POT HOLDER, SIZE APPROXIMATELY 8 1/2"X 11". 100% NEW FLEXON COTTON YARN, WEIGHT APPROXIMATELY 32 OUNCES TO A SQUARE YARD, DOUBLE BONDED. SHIP LOT: 25 Dozen	HORACE MADDOX TEXTILES #PH-10 1 CALICO (15PH1C) JOHN RITZENTHLER PG1MPU (422955) MCR - 9432P - 900002 BUCCANEER 911BP	Buccaneer 911BP	33643	Dozen	200	\$108.00	\$21,600.00	\$108 is the Dozen price, \$9.00 per pair.	2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days	AWARD	APPROVED BRAND
5041	12,000	CASE	FORK KIT. CONSIST OF A FORK (medium-weight, shatter proof), STRAW, AND 10' X10" (MINIMUM) NAPKIN, SEALED IN PLASTIC. Medium weight, shatter proof fork is required to be included in this kit. APPROXIMATE PACK: 1000 KITS PER CASE. SPECIFY IF PACKED DIFFERENT. SHIP LOT: 500 CASES	DAXWELL (B10001967) BERKLEY SQUARE 1172680					\$0.00	\$0.00				
5041	12,000	CASE	FORK KIT. CONSIST OF A FORK (medium-weight, shatter proof), STRAW, AND 10' X10" (MINIMUM) NAPKIN, SEALED IN PLASTIC. Medium weight, shatter proof fork is required to be included in this kit. APPROXIMATE PACK: 1000 KITS PER CASE. SPECIFY IF PACKED DIFFERENT. SHIP LOT: 500 CASES	DAXWELL (B10001967) BERKLEY SQUARE 1172680	Wallace 6405	special	1000	120000	\$13.95	\$167,400.00	This is the same approved wallace kit as line 6209, just with a fork instead of a spoon. We would want to build a release scheudle on this item with the intent to stock.	apt would be willing		NO SAMPLE SENT NOT AN APPROVED BRAND
5041	12,000	CASE	FORK KIT. CONSIST OF A FORK (medium-weight, shatter proof), STRAW, AND 10' X10" (MINIMUM) NAPKIN, SEALED IN PLASTIC. Medium weight, shatter proof fork is required to be included in this kit. APPROXIMATE PACK: 1000 KITS PER CASE. SPECIFY IF PACKED DIFFERENT. SHIP LOT: 500 CASES	DAXWELL (B10001967) BERKLEY SQUARE 1172680	Daxwell Distribution	B10001967	1000	12000	\$10.18	\$122,160.00		14 business days from receipt of purchase order	AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	12,000	Column 3 CASE	Column 4 FORK KIT. CONSIST OF A FORK (medium-weight, shatter proof), STRAW, AND 10' X10" (MINIMUM) NAPKIN, SEALED IN PLASTIC. Medium weight, shatter proof fork is required to be included in this kit. APPROXIMATE PACK: 1000 KITS PER CASE. SPECIFY IF PACKED DIFFERENT. SHIP LOT: 500 CASES	Column 5 DAXWELL (B10001967) BERKLEY SQUARE 1172680	Column 6 MinMor Industries-J4F	Column 7 MM-J4F-6405	1,000	Column 9	Column 10 \$13.33	Column 11 \$159,960.00	Column 12 72 Cases/Pallet	Column 13	Column 14	Column 15 SAMPLE SENT ADD AS APPROVED BRAND
5041	12,000	CASE	FORK KIT. CONSIST OF A FORK (medium-weight, shatter proof), STRAW, AND 10' X10" (MINIMUM) NAPKIN, SEALED IN PLASTIC. Medium weight, shatter proof fork is required to be included in this kit. APPROXIMATE PACK: 1000 KITS PER CASE. SPECIFY IF PACKED DIFFERENT. SHIP LOT: 500 CASES	DAXWELL (B10001967) BERKLEY SQUARE 1172680	Boardwalk	BWKSCHOOLMWPP	1000	12000	\$18.55	\$222,585.37		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5041	12,000	CASE	FORK KIT. CONSIST OF A FORK (medium-weight, shatter proof), STRAW, AND 10' X10" (MINIMUM) NAPKIN, SEALED IN PLASTIC. Medium weight, shatter proof fork is required to be included in this kit. APPROXIMATE PACK: 1000 KITS PER CASE. SPECIFY IF PACKED DIFFERENT. SHIP LOT: 500 CASES	DAXWELL (B10001967) BERKLEY SQUARE 1172680	BERKLEY	1172680	1000	12000	\$11.41	\$136,920.00				APPROVED BRAND
5045	600	CASE	LIDS FOR 2 OUNCE SOUFFLE CUPS. CLEAR OR TRANSLUCENT FOOD CONTAINER, APPROXIMATELY 2500 PER CASE. IF DIFFERENT SPECIFY. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5027(Cup) and the lowest combined price will prevail. SHIP LOT: 100	SYSCO MEMPHIS, LLC/SYSCO/PACTIV (YLS2FRSYS) PACTIV YSL2FR SOLO PL2-0090 DAXWELL E10004472					\$0.00	\$0.00				
5045	600	CASE	LIDS FOR 2 OUNCE SOUFFLE CUPS. CLEAR OR TRANSLUCENT FOOD CONTAINER, APPROXIMATELY 2500 PER CASE. IF DIFFERENT SPECIFY. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5027(Cup) and the lowest combined price will prevail. SHIP LOT: 100	SYSCO MEMPHIS, LLC/SYSCO/PACTIV (YLS2FRSYS) PACTIV YSL2FR SOLO PL2-0090 DAXWELL E10004472	Victoria Bay	34137	2500	600	\$24.50	\$14,700.00	We stock these, but will want to get a release forecast to meet demand	2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days		SAMPLE SENT ADD AS APPROVED BRAND
5045	600	CASE	LIDS FOR 2 OUNCE SOUFFLE CUPS. CLEAR OR TRANSLUCENT FOOD CONTAINER, APPROXIMATELY 2500 PER CASE. IF DIFFERENT SPECIFY. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5027(Cup) and the lowest combined price will prevail. SHIP LOT: 100	SYSCO MEMPHIS, LLC/SYSCO/PACTIV (YLS2FRSYS) PACTIV YSL2FR SOLO PL2-0090 DAXWELL E10004472	Daxwell Distribution	E10004472	2500	600	\$15.55	\$9,330.00		14 business days from receipt of purchase order	AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4 LIDS FOR 2 OUNCE SOUFFLE CUPS. CLEAR OR TRANSLUCENT FOOD CONTAINER, APPROXIMATELY 2500 PER CASE. IF DIFFERENT SPECIFY. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5027(Cup) and the lowest combined price will prevail. SHIP LOT: 100	COlumn 5 SYSCO MEMPHIS, LLC/SYSCO/PACTIV (YLS2FRSYS) PACTIV YSL2FR SOLO PL2-0090 DAXWELL E10004472	Column 6 PRIME SOURCE	Column 7	Column 8	Column 9	\$20.81	Column 11 \$12,486.00	Column 12	Column 13 2-3 WEEKS	Column 14	NO SAMPLE SENT NOT AN APPROVED BRAND
5045	600	CASE	2500 PER CASE. IF DIFFERENT SPECIFY. For Shelby County Board of Education to select a successful	SYSCO MEMPHIS, LLC/SYSCO/PACTIV (YLS2FRSYS) PACTIV YSL2FR PL2-0090 DAXWELL E10004472	Boardwalk	BWKPRTLID2	2500	600	\$24.33	\$14,597.56		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5045	600	CASE	TRANSLUCENT FOOD CONTAINER, APPROXIMATELY 2500 PER CASE. IF DIFFERENT SPECIFY. For Shelby County Board of Education to select a successful	SYSCO MEMPHIS, LLC/SYSCO/PACTIV (YLS2FRSYS) PACTIV YSL2FR PL2-0090 DAXWELL E10004472	PRIME SOURCE	SL200	2500	600	\$17.88	\$10,728.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5047	600	CASE	SANDWICH WEDGE CONTAINER - DISPOSIBLE PAPER SANDWICH CONTAINER THAT IS WEDGE SHAPED WITH A CLEAR VIEW WINDOW TO SHOW PRODUCT. WEDGE CONTAINER IS APPROXIMATELY 6 13/15" x 2 15/15". DESIGN ALLOWS FOR CONTAINER TO SIT UP FOR DISPLAY. CONTAINER IS GREASE RESISTANT. PACKED APPROXIMATELY 150 PER CASE. IF PACKED DIFFERENTLY, PLEASE INDICATE PACK SIZE. SHIP LOT: 200	ANCHOR 4511019					\$0.00	\$0.00				
5047	600	CASE	SANDWICH WEDGE CONTAINER - DISPOSIBLE PAPER SANDWICH CONTAINER THAT IS WEDGE SHAPED WITH A CLEAR VIEW WINDOW TO SHOW PRODUCT. WEDGE CONTAINER IS APPROXIMATELY 6 13/16" x 2 15/16". DESIGN ALLOWS FOR CONTAINER TO SIT UP FOR DISPLAY. CONTAINER IS GREASE RESISTANT. PACKED APPROXIMATELY 150 PER CASE. IF PACKED DIFFERENTLY, PLEASE INDICATE PACK SIZE. SHIP LOT: 200	ANCHOR 4511019	Anchor 4511019	30615	250	360	\$48.00	\$28,800.00	We stock these, but will want to get a release forecast to meet demand. Note pack size, APT has 250 per case, so real spend is \$12,000	2-3 business Days		APPROVED BRAND
5047	600	CASE	SANDWICH WEDGE CONTAINER - DISPOSIBLE PAPER SANDWICH CONTAINER THAT IS WEDGE SHAPED WITH A CLEAR VIEW WINDOW TO SHOW PRODUCT. WEDGE CONTAINER IS APPROXIMATELY 6 13/16" x 2 15/16". DESIGN ALLOWS FOR CONTAINER TO SIT UP FOR DISPLAY. CONTAINER IS GREASE RESISTANT. PACKED APPROXIMATELY 150 PER CASE. IF PACKED DIFFERENTLY, PLEASE INDICATE PACK SIZE. SHIP LOT: 200	ANCHOR 4511019	ANCHOR	#4511019	250/CASE	600	\$36.20	\$21,720.00		2-3 WEEKS	AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1 5048	3,000	Column 3 CASE	COlumn 4 GARBAGE CAN LINERS. 33"X 39" CLEAR. APPROXIMATELY 100 PER CASE. 1.5 MIL, RESIN SUPER HEXENE WITH NO REPROCESSED RESIN ADDED. MUST HAVE "STAR SEALED" BOTTOM CONFIGURATION. SHIP LOT: 500	COlumn 5 ALL AMERICAN POLY (3339-MAAP) UNIPAK CORP./ UPC 4015CL HERITAGE HER-6639SG INT-3339-SUPER EXH CALICO 9911591	Column 6	Column 7	Column 8	Column 9	\$0.00	\$0.00	Column 12	Column 13	Column 14	Column 15
5048	3,000	CASE	GARBAGE CAN LINERS. 33"X 39" CLEAR. APPROXIMATELY 100 PER CASE. 1.5 MIL, RESIN SUPER HEXENE WITH NO REPROCESSED RESIN ADDED. MUST HAVE "STAR SEALED" BOTTOM CONFIGURATION. SHIP LOT: 500	ALL AMERICAN POLY (3339-MAAP) UNIPAK CORP./ UPC 4015CL HERITAGE HER-6639SG INT-3339-SUPER EXH CALICO 9911591	Colonial Bag	special	100	3000	\$14.00	\$42,000.00	This is a special bag, so sample was not avaailbe, but Colonial is a preferred APT vendor.	2-3 weeksFRO		NO SAMPLE SENT NOT AN APPROVED BRAND
5048	3,000	CASE	GARBAGE CAN LINERS. 33"X 39" CLEAR. APPROXIMATELY 100 PER CASE. 1.5 MIL, RESIN SUPER HEXENE WITH NO REPROCESSED RESIN ADDED. MUST HAVE "STAR SEALED" BOTTOM CONFIGURATION. SHIP LOT: 500	ALL AMERICAN POLY (3339-MAAP) UNIPAK CORP./ UPC 4015CL HERITAGE HER-6639SG INT-3339-SUPER EXH CALICO 9911591	Calico	9911591	100	3000	\$17.54	\$52,620.00	BIDDING AS SPECIFIED	2-3 WEEKS		APPROVED BRAND
5048	3,000	CASE	GARBAGE CAN LINERS. 33"X 39" CLEAR. APPROXIMATELY 100 PER CASE. 1.5 MIL, RESIN SUPER HEXENE WITH NO REPROCESSED RESIN ADDED. MUST HAVE "STAR SEALED" BOTTOM CONFIGURATION. SHIP LOT: 500	ALL AMERICAN POLY (3339-MAAP) UNIPAK CORP./ UPC 4015CL HERITAGE HER-6639SG INT-3339-SUPER EXH CALICO 9911591	IBS	#3339SXHC	100/CS	3000	\$31.44	\$94,320.00		2-3 WEEKS		APPROVED BRAND
5048	3,000	CASE	GARBAGE CAN LINERS. 33"X 39" CLEAR. APPROXIMATELY 100 PER CASE. 1.5 MIL, RESIN SUPER HEXENE WITH NO REPROCESSED RESIN ADDED. MUST HAVE "STAR SEALED" BOTTOM CONFIGURATION. SHIP LOT: 500	ALL AMERICAN POLY (3339-MAAP) UNIPAK CORP./ UPC 4015CL HERITAGE HER-6639SG INT-3339-SUPER EXH CALICO 9911591	Unipak Corp.	UPC 4015CL	100	3000	\$12.78	\$38,340.00		2	AWARD	APPROVED BRAND
5049	700	CASE	QUILON TREATED PAN LINERS, APPROXIMATELY 24 3/8" X 16 3/8". MAXIMUM TEMPERATURE 400 DEGREES F. PACK 1000 SHEETS/CASE. SPECIFY IF COUNT IS DIFFERENT. SHIP LOT: 250	Brown 162-1, HANDY WACKS GEORGIA PACIFIC/JAMES RIVER L010, JAMES RIVER L010 QUILON (NORPAK CORP.) PAPERCON 25QLXL DISPOZ-O BPL-R49					\$0.00	\$0.00				
5049	700	CASE	QUILON TREATED PAN LINERS, APPROXIMATELY 24 3/8" X 16 3/8". MAXIMUM TEMPERATURE 400 DEGREES F. PACK 1000 SHEETS/CASE. SPECIFY IF COUNT IS DIFFERENT. SHIP LOT: 250	Brown 162-1, HANDY WACKS GEORGIA PACIFIC/JAMES RIVER L010, JAMES RIVER L010 QUILON (NORPAK CORP.) PAPERCON 25QLXL DISPOZ-0 BPL-R49 Brown 162-1,	McNairn Quilion 290001	49469	1000	700	\$40.00	\$28,000.00	We stock these, but will want to get a release forecast to meet demand	2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND
5049	700	CASE	QUILON TREATED PAN LINERS, APPROXIMATELY 24 3/8" X 16 3/8". MAXIMUM TEMPERATURE 400 DEGREES F. PACK 1000 SHEETS/CASE. SPECIFY IF COUNT IS DIFFERENT.	Brown 162-1, HANDY WACKS GEORGIA PACIFIC/JAMES RIVER L010, JAMES RIVER L010 QUILON (NORPAK CORP.)	BROWN	#162-1	1000/CS	700	\$40.96	\$28,672.00		2-3 WEEKS	AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5049	700	CASE		Brown 162-1, HANDY WACKS GEORGIA PACIFIC/JAMES RIVER L010, JAMES RIVER L010 QUILON (NORPAK CORP.) PAPERCON 25QLXL DISPOZ-O BPL-R49	BagCraft	BGC030001	1000	700	\$61.27	\$42,887.80		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5049	700	CASE	QUILON TREATED PAN LINERS, APPROXIMATELY 24 3/8" X 16 3/8". MAXIMUM TEMPERATURE 400 DEGREES F. PACK 1000 SHEETS/CASE. SPECIFY IF COUNT IS DIFFERENT. SHIP LOT: 250		DURABLE	QPL25	1000	700	\$39.99	\$27,993.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5051	800	BUNDLE	LUNCH SACKS, WHITE #8 BAGS. PACKED IN BUNDLES OF 500. SHIP LOT: 300	SYSCO APT -Dura 18408 HK-120308					\$0.00	\$0.00				
5051	800	BUNDLE	LUNCH SACKS, WHITE #8 BAGS. PACKED IN BUNDLES OF 500. SHIP LOT: 300	SYSCO APT -Dura 18408 HK-120308	Dura 18408	33777	500	800	\$19.75	\$15,800.00	white is still not in great supply, so this is the Kraft bag schools have approved and using	2-3 business Days		APPROVED BRAND
5051	800	BUNDLE	LUNCH SACKS, WHITE #8 BAGS. PACKED IN BUNDLES OF 500. SHIP LOT: 300	SYSCO APT - Dura 18408 HK-120308	DURO	#18408	500/BDL	800	\$16.30	\$13,040.00		2-3 WEEKS	AWARD	APPROVED BRAND
5051	800	BUNDLE	LUNCH SACKS, WHITE #8 BAGS. PACKED IN BUNDLES OF 500. SHIP LOT: 300	SYSCO APT-Dura 18408 HK-120308	BagCraft	BAGGW8500	500	800	\$25.43	\$20,341.46		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5052	800	CASE	NAPKINS, PAPER. APPROXIMATELY 250 NAPKINS PER PACKAGE, APPROXIMATELY 40 PACKAGES PER CASE. SPECIFY IF DIFFERENT. MINIMUM NAPKIN SIZE: 7 INCHES X 13 1/2 INCHES. SHIP LOT: 200	HOUSEKEEPERS SUPPLY CO/ HATTISBURG PAPER CO (55712) SCA D3056B HK-1250					\$0.00	\$0.00				
5052	800	CASE	NAPKINS, PAPER. APPROXIMATELY 250 NAPKINS PER PACKAGE, APPROXIMATELY 40 PACKAGES PER CASE. SPECIFY IF DIFFERENT. MINIMUM NAPKIN SIZE: 7 INCHES X 13 1/2 INCHES. SHIP LOT: 200	HOUSEKEEPERS SUPPLY CO/ HATTISBURG PAPER CO (55712) SCA D3056B HK-1250	Morcon D20500	23645	10000	800	\$37.50	\$30,000.00	We stock these, but will want to get a release forecast to meet demand	2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5052	800	CASE	NAPKINS, PAPER. APPROXIMATELY 250 NAPKINS PER PACKAGE, APPROXIMATELY 40 PACKAGES PER CASE. SPECIFY IF DIFFERENT. MINIMUM NAPKIN SIZE: 7 INCHES X 13 1/2 INCHES. SHIP LOT: 200	HOUSEKEEPERS SUPPLY CO/ HATTISBURG PAPER CO (55712) SCA D3056B HK-1250	HOUSEKEEPERS SUPPLY	#1250	250/PK 40PK/CS 10,000/CS	800	\$35.56	\$28,448.00		2-3 WEEKS	AWARD	APPROVED BRAND
5052	800	CASE	PACKAGE, APPROXIMATELY 40 PACKAGES PER CASE.	HOUSEKEEPERS SUPPLY CO/ HATTISBURG PAPER CO (55712) SCA D3056B HK-1250	Boardwalk	BWK8310W	6000	800	\$31.95	\$25,560.98		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5052	800	CASE		HOUSEKEEPERS SUPPLY CO/ HATTISBURG PAPER CO (55712) SCA D3056B HK-1250	CRYSTALWARE	TFN1P010000	10000	800	\$26.45	\$21,160.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5053	1,000	CASE	LID, FOR 24 OZ. SQUARE SALAD BOWL - Clear, lid. Must snap tightly on corresponding 24 oz. square salad bowl that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5024 (Salad Bowl) and the lowest combined price will prevail. SHIP LOT: 200						\$0.00	\$0.00				
5053	1,000	CASE	LID, FOR 24 OZ. SQUARE SALAD BOWL - Clear, lid. Must snap tightly on corresponding 24 oz. square salad bowl that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5024 (Salad Bowl) and the lowest combined price will prevail. SHIP LOT: 200		WNA parpack5DD200DL	980670	300	1000	\$51.00	\$51,000.00		2-3 weeksFRO		APPROVED BRAND
5053	1,000	CASE	LID, FOR 24 OZ. SQUARE SALAD BOWL - Clear, lid. Must snap tightly on corresponding 24 oz. square salad bowl that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5024 (Salad Bowl) and the lowest combined price will prevail. SHIP LOT: 200	SABERT	parpak	5DD200DL	300	1000	\$44.91	\$44,910.00			AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4 SCOURING POWER PAD. PAD TO BE NON-WOVEN BLUE	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5054	500	CASE	COLOR AND BOW-TIE SHAPED FOR COMFORT AND EASY SCOURING. DESIGNED TO GIVE MAXIMUM SCOURING POWER WITHOUT SCRATCHING THE SURFACE. MUST CLEAN HEAVILY ENCRUSTED POTS AND PANS, SINKS, DOORS, WALLS. When applicable, delivered items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100	APT-519783					\$0.00	\$0.00				
5054	500	CASE	SCOURING POWER PAD. PAD TO BE NON-WOVEN BLUE COLOR AND BOW-THE SHAPED FOR COMFORT AND EASY SCOURING. DESIGNED TO GIVE MAXIMUM SCOURING POWER WITHOUT SCRATCHING THE SURFACE. MUST CLEAN HEAVILY ENCRUSTED POTS AND PANS, SINKS, DOORS, WALLS. When applicable, delivered items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100	APT-519783	ЗМ-АРТ	519783	20	500	\$39.50	\$19,750.00		2-3 business Days	AWARD	APPROVED BRAND
5058	625	EACH	BROOM, POLYPROLENE - Medium weight polypropolene bristle broom. Handle attached. Approximately 48" tall with a 12" sweep length. SHIP LOT: 250	ABCO BR-1024MH					\$0.00	\$0.00				
5058	625	EACH	BROOM, POLYPROLENE - Medium weight polypropolene bristle broom. Handle attached. Approximately 48" tall with a 12" sweep length. SHIP LOT: 250	ABCO BR-1024MH	Janico	170008	Each	625	\$5.49	\$3,431.25		2-3 business Days		SAMPLE SENT ADD AS APPROVED BRAND
5058	625	EACH	BROOM, POLYPROLENE - Medium weight polypropolene bristle broom. Handle attached. Approximately 48" tall with a 12 " sweep length. SHIP LOT: 250	ABCO BR-1024MH	ABCO	#BR-1024MH	EACH	625	\$3.59	\$2,243.75	SHIP LOT = 25DZ = 300EACH	2-3 WEEKS	AWARD	APPROVED BRAND
5059	600	CASE	SANDWICH WRAP DELI - Deli Wrap, dry wax. With red checks. 12 x 12. Approximate pack: 5/1000 per case. SHIP LOT: 100	BROWN 2012					\$0.00	\$0.00				
5059	600	CASE	SANDWICH WRAP DELI - Deli Wrap, dry wax. With red checks. 12 x 12. Approximate pack: 5/1000 per case. SHIP LOT: 100	BROWN 2012	BROWN	#7B12-RC	5000/CS	600	\$75.18	\$45,108.00		2-3 WEEKS	AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5059	600	CASE	SANDWICH WRAP DELI - Deli Wrap, dry wax. With red checks. 12 x 12. Approximate pack: 5/1000 per case. SHIP LOT: 100	BROWN 2012	McNairn 110840	41930	2000	1500	\$46.00	\$27,600.00	packed 2000 per case. Brown is not providing pricing on school bids for 2023-2024	2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND
5059	600	CASE	SANDWICH WRAP DELI - Deli Wrap, dry wax. With red checks. 12 x 12. Approximate pack: 5/1000 per case. SHIP LOT: 100	BROWN 2012	BagCraft	BGC057700	5000	600	\$142.01	\$85,207.32		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5059	600	CASE	SANDWICH WRAP DELI - Deli Wrap, dry wax. With red checks. 12 x 12. Approximate pack: 5/1000 per case. SHIP LOT: 100	BROWN 2012	VOLFLEX	FS073	5/1000	600	\$74.40	\$44,640.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5060	300	CASE	SANDWICH WRAP, FOIL/PAPER. NO DESIGN 10.5 X 14" SHEETS. PACKED 4-500 COUNT BOXES PER CASE. APPROVED BRANDS: SHIP LOT: 200	PACTIV W66, BAGCRAFT 300815, BROWN SC14					\$0.00	\$0.00				
5060	300	CASE	SANDWICH WRAP, FOIL/PAPER. NO DESIGN 10.5 X 14" SHEETS. PACKED 4-500 COUNT BOXES PER CASE. APPROVED BRANDS: SHIP LOT: 200	PACTIV W66, BAGCRAFT 300815, BROWN 5C14	pactiv 7524	special	2500	240	\$125.00	\$37,500.00	packed 2500, note reduction in total cases needed, spend would be \$30,000	2-3 weeksFRO		NO SAMPLE SENT NOT AN APPROVED BRAND
5060	300	CASE	SANDWICH WRAP, FOIL/PAPER. NO DESIGN 10.5 X 14" SHEETS. PACKED 4-500 COUNT BOXES PER CASE. APPROVED BRANDS: SHIP LOT: 200	PACTIV W66, BAGCRAFT 300815, BROWN 5C14	BROWN	#5C14	2500/CS	300	\$87.20	\$26,160.00		2-3 WEEKS	AWARD	APPROVED BRAND
5060	300	CASE	SANDWICH WRAP, FOIL/PAPER. NO DESIGN 10.5 X 14" SHEETS. PACKED 4-500 COUNT BOXES PER CASE. APPROVED BRANDS: SHIP LOT: 200	PACTIV W66, BAGCRAFT 300815, BROWN 5C14	BagCraft	BGC300815	2000	300	\$118.07	\$35,421.95		4 weeks		APPROVED BRAND
5060	300	CASE	SANDWICH WRAP, FOIL/PAPER. NO DESIGN 10.5 X 14" SHEETS. PACKED 4-500 COUNT BOXES PER CASE. APPROVED BRANDS: SHIP LOT: 200	PACTIV W66, BAGCRAFT 300815, BROWN SC14	VOLFLEX	FS004	5/500	240	\$88.99	\$26,697.00				NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5062	400	CASE	SANDWICH WRAP, FOIL/PAPER. RED COLORED SHEETS. PACKED 4-500 COUNT BOXES PER CASE. SHIP LOT: 100	BAGCRAFT 300842 BAGCRAFT 300827 BROWN 5C132CR					\$0.00	\$0.00				
5062	400	CASE	SANDWICH WRAP, FOIL/PAPER. RED COLORED SHEETS. PACKED 4-500 COUNT BOXES PER CASE. SHIP LOT: 100	BAGCRAFT 300842 BAGCRAFT 300827 BROWN 5C132CR	pactiv 7512	Special	2500	320	\$125.00	\$50,000.00	packed 2500, note reduction in total cases needed, spend would be \$48,000	2-3 weeksFRO		NO SAMPLE SENT NOT AN APPROVED BRAND
5062	400	CASE	SANDWICH WRAP, FOIL/PAPER. RED COLORED SHEETS. PACKED 4-500 COUNT BOXES PER CASE. SHIP LOT: 100	BAGCRAFT 300842 BAGCRAFT 300827 BROWN 5C132CR	BROWN	#5C13-2CR	2000/CS	400	\$70.95	\$28,380.00		2-3 WEEKS	AWARD	APPROVED BRAND
5062	400	CASE	SANDWICH WRAP, FOIL/PAPER. RED COLORED SHEETS. PACKED 4-500 COUNT BOXES PER CASE. SHIP LOT: 100	BAGCRAFT 300842 BAGCRAFT 300827 BROWN 5C132CR	VOLFLEX	FSOO/COLOR	5/500	320	\$87.99	\$35,196.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5063	1,200	EACH	SLEEVE, HEAT PROTECTIVE, 18 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 18 inch long sleeve that protects arms from cuts, abrasions and lacerations. SHIP LOT: 100	HOUSEKEEPERS SUPPLY 3018 KEVLAR (CORDOVA) 3018					\$0.00	\$0.00				
5063	1,200	EACH	SLEEVE, HEAT PROTECTIVE, 18 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 18 inch long sleeve that protects arms from cuts, abrasions and lacerations.	HOUSEKEEPERS SUPPLY 3018 KEVLAR (CORDOVA) 3018	Cordova 3018	Special	Each	1200	\$5.00	\$6,000.00		2-3 weeksFRO		APPROVED BRAND
5063	1,200	EACH	SHIP LOT: 100 SLEEVE, HEAT PROTECTIVE, 18 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 18 inch long sleeve that protects arms from cuts, abrasions and lacerations. SHIP LOT: 100	HOUSEKEEPERS SUPPLY 3018 KEVLAR (CORDOVA) 3018	KEVLAR (CORDOVA)	#3018T	EACH	1200	\$2.89	\$3,468.00		2-3 WEEKS	AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1 5066	Column 2	PKG	Column 4 TAPE, POLYPROPYLENE, TRANAPRENT, 1.8 mil 2"in width with a 3"core. Box sealing tape with acrylic adhesive. 21 lb. tensile strength. Edge tear and split reisitent. Suitable for use in cold temperature applications. PACKED 36 ROLLS/CASE. SHIP LOT: 100	Column 5 SHURTAPE #230982 APT- 810005	Column 6	Column 7	Column 8	Column 9	Column 10 \$0.00	Column 11 \$0.00	Column 12	Column 13	Column 14	Column 15
5066	500	PKG	TAPE, POLYPROPYLENE, TRANSPARENT, 1.8 mil 2"in width with a 3"core. Box sealing tape with acrylic adhesive. 21 lb. tensile strength. Edge tear and split reisitent. Suitable for use in cold temperature applications. PACKED 36 ROLLS/CASE. SHIP LOT: 100	SHURTAPE #230982 APT- 810005	АРТ	810005	36	500	\$53.64	\$26,820.00		2-3 business Days	AWARD	APPROVED BRAND
5067	100	EACH	DISPENSER, HEAVY-DUTY, PACKAGING TAPE. PRODUCT SHOULD CONTAIN AN ADJUSTABLE TAPE BREAK FOR TAPE APPROXIMATELY 2 INCHES IN WIDTH. SHIP LOT: 50	GLOBAL INDUSTRIAL T15008 APT- QPC209					\$0.00	\$0.00				
5067	100		DISPENSER, HEAVY-DUTY, PACKAGING TAPE. PRODUCT SHOULD CONTAIN AN ADJUSTABLE TAPE BREAK FOR TAPE APPROXIMATELY 2 INCHES IN WIDTH. SHIP LOT: 50	GLOBAL INDUSTRIAL T15008 APT- QPC209	APT-QPC209	26087	Each	100	\$8.45	\$845.00		2-3 business Days	AWARD	APPROVED BRAND
5067	100	EACH	DISPENSER, HEAVY-DUTY, PACKAGING TAPE. PRODUCT SHOULD CONTAIN AN ADJUSTABLE TAPE BREAK FOR TAPE APPROXIMATELY 2 INCHES IN WIDTH. SHIP LOT: 50	GLOBAL INDUSTRIAL T15008 APT- QPC209	Scotch	MMMH122	6	100	\$51.50	\$5,150.00		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5068	800	CASE	TISSUE, TOILET. 2-PLY WHITE 4.5X3.8" 500 SHT PER ROLL. MINIMUM PACK 96 ROLLS PER CASE. SHIP LOT: 100 CASES	HOUSEKEEPERS SUPPLY/ATLAS-(235) VON DREHIE - RT500 RT500 SCA TM1616S					\$0.00	\$0.00				
5068	800		TISSUE, TOILET. 2-PLY WHITE 4.5X3.8" 500 SHT PER ROLL. MINIMUM PACK 96 ROLLS PER CASE. SHIP LOT: 100 CASES	HOUSEKEEPERS SUPPLY/ATLAS-(235) VON DREHIE - RT500 RT500 SCA TM1616S	VonDrehle RT500	451816	96	800	\$38.95	\$31,160.00		2-3 business Days	AWARD	APPROVED BRAND
5068	800		TISSUE, TOILET. 2-PLY WHITE 4.5X3.8" 500 SHT PER ROLL. MINIMUM PACK 96 ROLLS PER CASE. SHIP LOT: 100 CASES	HOUSEKEEPERS SUPPLY/ATLAS-(235) VON DREHLE -RT500 RT500 SCA TM1616S	HOUSEKEEPERS SUPPLY/ATLAS	#235	96 RLS/CASE	800	\$44.44	\$35,552.00		2-3 WEEKS		APPROVED BRAND
5068	800	CASE	TISSUE, TOILET. 2-PLY WHITE 4.5X3.8" 500 SHT PER ROLL. MINIMUM PACK 96 ROLLS PER CASE. SHIP LOT: 100 CASES	HOUSEKEEPERS SUPPLY/ATLAS-(235) VON DREHLE -RT500 RT500 SCA TM1616S	Boardwalk	BWK6180	96	800	\$56.84	\$45,473.17		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1 5069	Column 2	DOZEN	Column 4 DISH TOWELS/BAR TOWELS. TRIPLEX LOOP, 2 THREADS PER LOOP, SINGLE RIB. 100% NEW COTTON YARN, CUT SIZE APPROXIMATELY 17 X 20 INCHES, WEIGHT APPROXIMATELY 12 EACH PER PACK. SHIP LOT: 200 Doz.	Column 5 HOUSEKEEPING SUPPLY 94403 HORACE MADDOX TEXTILES JOHN RITZENTHALER KE/BVT-700BRT28.	Column 6	Column 7	Column 8	Column 9	Column 10 \$0.00	Column 11 \$0.00	Column 12	Column 13	Column 14	Column 15
5069	600	DOZEN	DISH TOWELS/BAR TOWELS. TRIPLEX LOOP, 2 THREADS PER LOOP, SINGLE RIB. 100% NEW COTTON YARN, CUT SIZE APPROXIMATELY 17 X 20 INCHES, WEIGHT APPROXIMATELY 12 EACH PER PACK. SHIP LOT: 200 Doz.	HOUSEKEEPING SUPPLY 94403 HORACE MADDOX TEXTILES JOHN RITZENTHALER KE/BVT-700BRT28.	Buccaneer BMRB1DZ	33644	Dozen	600	\$12.00	\$7,200.00		2-3 weeksFRO		SAMPLE SENT ADD AS APPROVED BRAND
5069	600	DOZEN	DISH TOWELS/BAR TOWELS. TRIPLEX LOOP, 2 THREADS PER LOOP, SINGLE RIB. 100% NEW COTTON YARN, CUT SIZE APPROXIMATELY 17 X 20 INCHES, WEIGHT APPROXIMATELY 12 EACH PER PACK. SHIP LOT: 200 Doz.	HOUSEKEEPING SUPPLY 94403 HORACE MADDOX TEXTILES JOHN RITZENTHALER KE/BVT-700BRT28.	HOUSEKEEPERS SUPPLY	#94403	100DZ/BALE	600	\$8.24	\$4,944.00		2-3 WEEKS	AWARD	APPROVED BRAND
5070	1,000	CASE	PAPER TOWELS, HAND. SINGLE FOLD HEAVY-DUTY PAPER TOWEL. 2000 PER CASE. SHIP LOT: 200	AMERICAN PAPER & TWINE COMPANY/ SCA- (SK1850A) CASCADE 1750 GP-235-04					\$0.00	\$0.00				
5070	1,000		PAPER TOWELS, HAND. SINGLE FOLD HEAVY-DUTY PAPER TOWEL. 2000 PER CASE. SHIP LOT: 200	AMERICAN PAPER & TWINE COMPANY/ SCA- (SK1850A) CASCADE 1750 GP-235-04	Cascades	1101194	4000	500	\$19.99	\$19,990.00	Note APT pack size is 4000 per case, so real spend would be \$9995	2-3 business Days	NO AWARD	
5070	1,000		PAPER TOWELS, HAND. SINGLE FOLD HEAVY-DUTY PAPER TOWEL. 2000 PER CASE. SHIP LOT: 200	AMERICAN PAPER & TWINE COMPANY/ SCA- (SK1850A) CASCADE 1750 GP-235-04	RIGHT CHOICE	#0013	4000/CASE	1000	\$24.25	\$24,250.00		2-3 WEEKS	NO AWARD	NO SAMPLE SENT NOT AN APPROVED BRAND
5070	1,000	CASE	PAPER TOWEL. 2000 PER CASE.	AMERICAN PAPER & TWINE COMPANY/ SCA- (SK1850A) CASCADE 1750 GP-235-04		GENSF5001K	4008	1000	\$21.57	\$21,573.17		4 weeks	NO AWARD	NO SAMPLE SENT NOT AN APPROVED BRAND
5070	1,000	CASE	PAPER TOWEL. 2000 PER CASE.	AMERICAN PAPER & TWINE COMPANY/ SCA- (SK1850A) CASCADE 1750 GP-235-04	CRYSTALWARE	SVFB33412	4008	1000	\$17.91	\$17,910.00			NO AWARD	NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5072	1,000	CASE	PLATE, DISPOSABLE, 10 INCH, 3-COMPARTMENT. MOLDED FIBER PRODUCT, MADE WITH A BLEND OF SUGAR CANE AND BAMBOO. COMPOSTABLE, SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: WHITE OR BEIGE. APPROXIMATE PACK: 500 PLATES PER CASE. SHIP LOT: 500	CHINET 25777, PACTIV MC500440002, CHINET 21105 AMER-CARE-PL-11					\$0.00	\$0.00				
5072	1,000	CASE	PLATE, DISPOSABLE, 10 INCH, 3-COMPARTMENT. MOLDED FIBER PRODUCT, MADE WITH A BLEND OF SUGAR CANE AND BAMBOO. COMPOSTABLE, SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: WHITE OR BEIGE. APPROXIMATE PACK: 500 PLATES PER CASE.	CHINET 25777, PACTIV MC500440002, CHINET 21105 AMER-CARE-PL-11	SCT 18163	44223	500	1000	\$68.00	\$68,000.00		2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND
5072	1,000	CASE	PLATE, DISPOSABLE, 10 INCH, 3-COMPARTMENT. MOLDED FIBER PRODUCT, MADE WITH A BLEND OF SUGAR CANE AND BAMBOO. COMPOSTABLE, SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: WHITE OR BEIGE. APPROXIMATE PACK: 500 PLATES PER CASE.	CHINET 25777, PACTIV MCS00440002, CHINET 21105 AMER-CARE-PL-11	BERKLEY	#1287916	500/CASE	1000	\$43.95	\$43,950.00		2-3 WEEKS		NO SAMPLE SENT NOT AN APPROVED BRAND
5072	1,000	CASE	•	CHINET 25777, PACTIV MCS00440002, CHINET 21105 AMER-CARE-PL-11	AMERCARE	PL-11				\$0.00				No Price was listed
5076	1,000	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. RED AND WHITE PLAID DESIGN. SHIP LOT: 200	HOUSEKEEPERS SQP-8703, SOLO NFT3-1011, JAMES RIVER KL300, Southern Champion 0425, FONDA 35300 MY ECOPLANET					\$0.00	\$0.00				
5076	1,000	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. RED AND WHITE PLAID DESIGN. SHIP LOT: 200	HOUSEKEEPERS SQP-8703, SOLO NFT3-1011, JAMES RIVER KL300, Southern Champion 0425, FONDA 35300 MY ECOPLANET	SOUTHERN CHAMPION	#0425	19.82	1000	\$19.82	\$19,820.00		2-3 WEEKS		PRICING NEEDED TO AWARD APPROVED BRAND
5076	1,000	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. RED AND WHITE PLAID DESIGN. SHIP LOT: 200	HOUSEKEEPERS SQP-8703, SOLO NFT3-1011, JAMES RIVER KL300, Southern Champion 0425, FONDA 35300 MY ECOPLANET	SCT 0425	831800	500	1000	\$23.50	\$23,500.00		2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5076	1,000	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. RED AND WHITE PLAID DESIGN. SHIP LOT: 200	HOUSEKEEPERS SQP-8703, SOLO NFT3-1011, JAMES RIVER KL300, Southern Champion 0425, FONDA 35300 MY ECOPLANET	MinMor Industries-J4F	MM-J4F-300G	500	1,000	\$26.77	\$26,770.00	49 cases/Pallet	2 Weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5076	1,000	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. RED AND WHITE PLAID DESIGN. SHIP LOT: 200	HOUSEKEEPERS SQP-8703, SOLO NFT3-1011, JAMES RIVER KL300, Southern Champion 0425, FONDA 35300 MY ECOPLANET	Dixie	DXERP3008	500	1000	\$34.80	\$34,804.88		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5076	1,000	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. RED AND WHITE PLAID DESIGN. SHIP LOT: 200	HOUSEKEEPERS SQP-8703, SOLO NFT3-1011, JAMES RIVER KL300, Southern Champion 0425, FONDA 35300 MY ECOPLANET	SCT	425	500	1000	\$18.41	\$18,410.00			AWARD	APPROVED BRAND
5077	7,000	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT. MADE WITH STYRO FOAM. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: WHITE OR BEIGE. APPROXIMATELY 500 PER CASE. MUST BE PALLETIZED. SHIP LOT: 520	SOUTHERN CHAMPION 0425 PACTIV YTH10500SGBX					\$0.00	\$0.00				
5077	7,000	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT. MADE WITH STYRO FOAM. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: WHITE OR BEIGE. APPROXIMATELY 500 PER CASE. MUST BE PALLETIZED. SHIP LOT: 520	SOUTHERN CHAMPION 0425 PACTIV YTH10500SGBX ECOPLANET -FTS -500-CMP	Pactiv YTH10500SGBX	47547	500	7000	\$24.95	\$174,650.00	White trays	2-3 weeksFRO	AWARD	APPROVED BRAND
5077	7,000	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT. MADE WITH STYRO FOAM. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: WHITE OR BEIGE. APPROXIMATELY 500 PER CASE. MUST BE PALLETIZED. SHIP LOT: 520	SOUTHERN CHAMPION 0425 PACTIV YTH10500SGBX ECOPLANET -FTS -500-CMP	HOUSEKEEPERS SUPPLY	#SLT-5	CASE	7000	\$25.40	\$177,800.00		2-3 WEEKS		APPROVED BRAND
5077	7,000	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT. MADE WITH STYRO FOAM. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: WHITE OR BEIGE. APPROXIMATELY 500 PER CASE. MUST BE PALLETIZED. SHIP LOT: 520	PACTIV YTH10500SGBX ECOPLANET -FTS -500-CMP HOUSEKEEPER APT ECOPAX- RST- 8	Pactiv	PCTYTH10500SGBX	500	7000	\$33.37	\$233,590.00		4 weeks		APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5077	7,000	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT. MADE WITH STYRO FOAM. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: WHITE OR BEIGE. APPROXIMATELY 500 PER CASE. MUST BE PALLETIZED. SHIP LOT: 520	PACTIV YTH10500SGBX ECOPLANET -FTS -500-CMP HOUSEKEEPER APT ECOPAX- RST- 8	PACTIV	YTH10500SGBX	500	7000	\$27.10	\$189,700.00				APPROVED BRAND
5078	600	CASE	SANDWICH WRAP, FOIL/PAPER 10.5 X 14" SHEETS. SOLID YELLOW OR GOLD IN COLOR. PACKED 4-500 COUNT BOXES PER CASE. SHIP LOT: 100	BAGCRAFT 300816 BROWN 5C13-2CY ECOPAX RE993 EP-HCP1 PACTIV YTH10500					\$0.00	\$0.00				
5078	600	CASE	SANDWICH WRAP, FOIL/PAPER 10.5 X 14" SHEETS. SOLID YELLOW OR GOLD IN COLOR. PACKED 4-500 COUNT BOXES PER CASE. SHIP LOT: 100	BAGCRAFT 300816 BROWN 5C13-2CY ECOPAX RE993 EP-HCP1 PACTIV YTH10500	pactiv	Special	2500	480	\$125.00	\$75,000.00	note case pack, real usage with Pactiv would be 480 cases or \$60,000	2-3 weeksFRO		NO SAMPLE SENT NOT AN APPROVED BRAND
5078	600	CASE	SANDWICH WRAP, FOIL/PAPER 10.5 X 14" SHEETS. SOLID YELLOW OR GOLD IN COLOR. PACKED 4-500 COUNT BOXES PER CASE. SHIP LOT: 100	BAGCRAFT 300816 BROWN 5C13-2CY ECOPAX RE993 EP-HCP1 PACTIV YTH10500	BROWN	#5C13-2CY	2000/CS	600	\$70.95	\$42,570.00		2-3 WEEKS	AWARD	APPROVED BRAND
5078	600	CASE	SANDWICH WRAP, FOIL/PAPER 10.5 X 14" SHEETS. SOLID YELLOW OR GOLD IN COLOR. PACKED 4-500 COUNT BOXES PER CASE. SHIP LOT: 100	BAGCRAFT 300816 BROWN 5C13-2CY ECOPAX RE993 EP-HCP1 PACTIV YTH10500	VOLFLEX	FS007	5/500	480	\$94.55	\$56,730.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5079	800	CASE	CLEANING TOWELS, DISPOSABLE- Heavy duty, extended use disposable cleaning towels. White: 12x 20 in a packaged pop-up box. SHIP LOT: 200	APT 470719					\$0.00	\$0.00				
5079	800	CASE	CLEANING TOWELS, DISPOSABLE- Heavy duty, extended use disposable cleaning towels. White. 12x 20 in a packaged pop-up box. SHIP LOT: 200	APT 470719	KC- APT	470719	1200	800	\$63.20	\$50,560.00		2-3 weeksFRO	NO AWARD	
5079	800	CASE	CLEANING TOWELS, DISPOSABLE- Heavy duty, extended use disposable cleaning towels. White. 12x 20 in a packaged pop-up box. SHIP LOT: 200	APT 470719	Wypall	KCC34607	176	800	\$40.24	\$32,192.00		4 weeks	NO AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5080	300	CASE	FRENCH FRY FOOD TRAY, 1/4 LB. 1000 PER CASE PREFERRED, SPECIFY IF DIFFERENT. SHIP LOT: 100	SOUTHERN CHAMPION 0401 FONDA 35025 HUHTAMAKI 35122032					\$0.00	\$0.00				
5080	300	CASE	FRENCH FRY FOOD TRAY,1/4 LB. 1000 PER CASE PREFERRED, SPECIFY IF DIFFERENT. SHIP LOT: 100	SOUTHERN CHAMPION 0401 FONDA 35025 HUHTAMAKI 35122032	SCT 0401	830802	1000	300	\$18.95	\$5,685.00		2-3 business Days		APPROVED BRAND
5080	300	CASE	FRENCH FRY FOOD TRAY,1/4 LB. 1000 PER CASE PREFERRED, SPECIFY IF DIFFERENT. SHIP LOT: 100	SOUTHERN CHAMPION 0401 FONDA 35025 HUHTAMAKI 35122032	SOUTHERN CHAMPION	#0401	CASE	300	\$15.95	\$4,785.00		2-3 WEEKS		APPROVED BRAND
5080	300	CASE	FRENCH FRY FOOD TRAY,1/4 LB. 1000 PER CASE PREFERRED, SPECIFY IF DIFFERENT. SHIP LOT: 100	SOUTHERN CHAMPION 0401 FONDA 35025 HUHTAMAKI 35122032	Boardwalk	BWK30LAG025	1000	300	\$29.09	\$8,725.61		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5080	300	CASE	FRENCH FRY FOOD TRAY,1/4 LB. 1000 PER CASE PREFERRED, SPECIFY IF DIFFERENT. SHIP LOT: 100	SOUTHERN CHAMPION 0401 FONDA 35025 HUHTAMAKI 35122032	SCT	401	1000	300	\$14.55	\$4,365.00			AWARD	APPROVED BRAND
5083	3,000	CASE	WHITE TAKE OUT LUNCH BOX/CHICKEN BOX, NO HANDLES, NO WINDOWS. MINIMUM APPROXIMATE DIMENSIONS 8 7/8" X 4 7/8" X 3 1/16" and MAXIMUM APPROXIMATE DIMENSIONS 9" X 5" X 3". MADE FROM PAPER BOARD MATERIAL. GREASE RESISTANT. SHIP LOT: 100	DIXIE 964W SOUTHERN CHAMPION-SCT2729					\$0.00	\$0.00				
5083	3,000	CASE	WHITE TAKE OUT LUNCH BOX/CHICKEN BOX, NO HANDLES, NO WINDOWS. MINIMUM APPROXIMATE DIMENSIONS 8 7/8" X 4 7/8" X 3 1/16" and MAXIMUM APPROXIMATE DIMENSIONS 9" X 5" X 3". MADE FROM PAPER BOARD MATERIAL. GREASE RESISTANT. SHIP LOT: 100	DIXIE 964W SOUTHERN CHAMPION-SCT2729	SCT 2729	48443	250	3000	\$57.50	\$172,500.00		2-3 weeksFRO		APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5083	3,000	CASE	WHITE TAKE OUT LUNCH BOX/CHICKEN BOX, NO HANDLES, NO WINDOWS. MINIMUM APPROXIMATE DIMENSIONS 8 7/8" X 4 7/8" X 3 1/16" and MAXIMUM APPROXIMATE DIMENSIONS 9" X 5" X 3". MADE FROM PAPER BOARD MATERIAL. GREASE RESISTANT. SHIP LOT: 100	DIXIE 964W SOUTHERN CHAMPION-SCT2729	SOUTHERN CHAMPION	#SCT2729	250/CASE	3000	\$51.50	\$154,500.00		2-3 WEEKS		APPROVED BRAND
5083	3,000	CASE	WHITE TAKE OUT LUNCH BOX/CHICKEN BOX, NO HANDLES, NO WINDOWS. MINIMUM APPROXIMATE DIMENSIONS 8 7/8" X 4 7/8" X 3 1/16" and MAXIMUM APPROXIMATE DIMENSIONS 9" X 5" X 3". MADE FROM PAPER BOARD MATERIAL. GREASE RESISTANT. SHIP LOT: 100	DIXIE 964W SOUTHERN CHAMPION-SCT2729	SCT	2729	250	3000	\$47.99	\$143,970.00			AWARD	APPROVED BRAND
5084	1,200	EACH	SLEEVE, HEAT PROTECTIVE, 22 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 22 inch long sleeve that protects arms from cuts, abrasions and lacerations. SHIP LOT: 100	HOUSEKEEPERS SUPPLY 3022T KEVLAR (CORDOVA) 3022T		2722	230	3000	\$0.00	\$0.00				
5084	1,200	EACH	SLEEVE, HEAT PROTECTIVE, 22 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 22 inch long sleeve that protects arms from cuts, abrasions and lacerations. SHIP LOT: 100	HOUSEKEEPERS SUPPLY 3022T KEVLAR (CORDOVA) 3022T	Cordova 3022T	Special	Each	1200	\$5.00	\$6,000.00		2-3 weeksFRO		APPROVED BRAND
5084	1,200	EACH	SLEEVE, HEAT PROTECTIVE, 22 INCH Strong, heat resistant, anti scratch, and 100 % cut resistant sleeves. Lightweight, safety and durable sleeves. Stretch fabric with thumb slot. 22 inch long sleeve that protects arms from cuts, abrasions and lacerations. SHIP LOT: 100	HOUSEKEEPERS SUPPLY 3022T KEVLAR (CORDOVA) 3022T	KEVLAR	#3022T	EACH	1200	\$3.60	\$4,320.00		2-3 WEEKS	AWARD	APPROVED BRAND
5085	9,000	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT, BLACK. MADE WITH STYRO FOAM. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: BLACK. APPROXIMATELY 500 PER CASE. MUST BE PALLETIZED. SHIP LOT: 800	AMERICAN PAPER & TWINE - 034041 PACTIV-PCYTH0500SGBX					\$0.00	\$0.00				

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5085	9,000	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT, BLACK. MADE WITH STYRO FOAM. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: BLACK. APPROXIMATELY 500 PER CASE. MUST BE PALLETIZED. SHIP LOT: 800	AMERICAN PAPER & TWINE - 034041 PACTIV-PCYTH0500SGBX	Pactiv YTH0500SGBX	47544	500	9000	\$24.95	\$224,550.00	Black Trays	2-3 weeksFRO	AWARD	APPROVED BRAND
5085	9,000	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT, BLACK. MADE WITH STYRO FOAM. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: BLACK. APPROXIMATELY SOO PER CASE. MUST BE PALLETIZED. SHIP LOT: 800	AMERICAN PAPER & TWINE - 034041 PACTIV-PCYTH0500SGBX	HOUSEKEEPERS SUPPLY	#SLTS-BLACK	CASE	9000	\$25.40	\$228,600.00		2-3 WEEKS		APPROVED BRAND
5085	9,000	CASE	TRAYS, FIVE (OR MORE) COMPARTMENT, BLACK. MADE WITH STYRO FOAM. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND RESIST GREASE, MOISTURE ABSORPTION AND LEAKS. COLOR: BLACK. APPROXIMATELY 500 PER CASE. MUST BE PALLETIZED. SHIP LOT: 800	AMERICAN PAPER & TWINE - 034041 PACTIV-PCYTH0500SGBX	Pactiv				\$33.37	\$300,330.00				APPROVED BRAND
5086	4,000	CASE	TRAYS, FIVE COMPARTMENT, BLACK, PEBBLE PLATE. Black pebble plate material. Ultra durable. Cut, grease, and moisture resistant. BPA and PFAS free. Packed 240 per case. SHIP LOT: 500	ACTION CHEMICAL - PCTYTHB05005G HOUSEKEEPERS SUPPLY #18340 ECOPAX-PPSR-8-BK		PCTYTHB0500SGBX	500		\$0.00	\$0.00		4 weeks		
5086	4,000	CASE	TRAYS, FIVE COMPARTMENT, BLACK, PEBBLE PLATE. Black pebble plate material. Ultra durable. Cut, grease, and moisture resistant. BPA and PFAS free. Packed 240 per case.	ACTION CHEMICAL - PCTYTHB0500SG HOUSEKEEPERS SUPPLY #18340 ECOPAX-PPSR-8-BK	Pactiv YTH0500SGBX	47544	500	9000	\$24.95	\$99,800.00	Ecopax and others stopped makign the black pebble, we suggest using the same item as line 5085 now that their supply chain is better.	2-3 weeksFRO	NO AWARD	INCORRECT ITEM BID
5086	4,000	CASE	TRAYS, FIVE COMPARTMENT, BLACK, PEBBLE PLATE. Black pebble plate material. Ultra durable. Cut, grease, and moisture resistant. BPA and PFAS free. Packed 240 per case. SHIP LOT: 500	ACTION CHEMICAL - PCTYTHB0500SG HOUSEKEEPERS SUPPLY #18340 ECOPAX-PPSR-8-BK	Pactiv				\$33.37	\$133,480.00			NO AWARD	INCORRECT ITEM BID
						PCTYTHB0500SGBX	500					4 weeks		1

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	1,000	CASE	Column 4 SOS LUNCH BAG - 18x11x32cm EACH. WHITE KRAFT PAPER BAGS NEED TO BE LABELED COLD WITH THE MEMPHIS-SHELBY COUNTY SCHOOLS LOGO ON TOP. Please refer to the MSCS website under the Communications Link for logo specifications. SHIP LOT: 200	Column 5 VENDISCO COLD	Column 6	Column 7	Column 8	Column 9	\$0.00	\$0.00	Column 12	Column 13	Column 14	Column 15
5095	1,000	CASE	SOS LUNCH BAG - 18x11x32cm EACH. WHITE KRAFT PAPER BAGS NEED TO BE LABELED COLD WITH THE MEMPHIS-SHEEDY COUNTY SCHOOLS LOGO ON TOP. Please refer to the MSCS website under the Communications Link for logo specifications. SHIP LOT: 200	VENDISCO COLD	Vendisco	SOSPaperBag(Cold)	1000	1000	\$231.25	\$231,250.00		1	AWARD	APPROVED BRAND
5097	1,000		TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. BLACK DESIGN. SHIP LOT: 200	NO APPROVED BRAND					\$0.00	\$0.00				
5097	1,000		TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. BLACK DESIGN. SHIP LOT: 200	NO APPROVED BRAND	Vendisco	3LBTray(Black)	500	1000	\$89.80	\$89,800.00	Black Trays are custom so lead times based on final design	TBD	ITEM TOO COST PROHIBITIVE NOT ABLE TO AWARD ITEM IS .18 EACH. WE HAVE A SIMILAR ITEM THAT IS .04 EACH.	APPROVED BRAND
5097	1,000	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. BLACK DESIGN. SHIP LOT: 200	NO APPROVED BRAND	SCT 0525	46640	500	1000	\$21.50	\$21,500.00		2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND
5097	1,000	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. BLACK DESIGN. SHIP LOT: 200	NO APPROVED BRAND	MinMor Industries-J4F	MM-J4F-300W	500	1,000	\$37.51	\$37,510.00	49 cases/Pallet	2 Weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5097	1,000	CASE	TRAY, FOOD, THREE POUND PAPER TRAY, 500 PER CASE. BLACK DESIGN. SHIP LOT: 200	NO APPROVED BRAND	SCT	425	500	1000	\$18.41	\$18,410.00				NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1 5099	Column 2	Column 3	Column 4 DEU SHEETS, MSCS LOGO- Flat dry waxed paper with full wet strength. Must have MSCS color printed logo. Moisture and grease resistant for hot foods. Packed 6000 sheets per case. If packed differently please indicate. Please refer to the MSCS website under the Communications Link for logo specifications.	Column 5 NO APPROVED BRAND	Column 6	Column 7	Column 8	Column 9	\$0.00	\$0.00	Column 12	Column 13	Column 14	Column 15
5099	600	CASE	DELI SHEETS, MSCS LOGO- Flat dry waxed paper with full wet strength. Must have MSCS color printed logo. Moisture and grease resistant for hot foods. Packed 6000 sheets per case. If packed differently please indicate. Please refer to the MSCS website under the Communications Link for logo specifications.	NO APPROVED BRAND	Vendisco	ParchPaper(MSCS)	6000	600	\$211.20	\$126,720.00	Custom Order. Lead time based on final design	TBD	AWARD	APPROVED BRAND
5100	800	CASE	GLOVES, VINYL, SEAMLESS, POWDERLESS, LARGE - Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case.	DAXWELL (F10001750) WALLACE VPF-M2 MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201					\$0.00	\$0.00				
5100	800	CASE	GLOVES, VINYL, SEAMLESS, POWDERLESS, LARGE - Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case.	DAXWELL (F10001750) WALLACE VPF-M2 MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201	Amercare 22993	47991	10/100	800	\$22.00	\$17,600.00		2-3 business Days		SAMPLE SENT ADD AS APPROVED BRAND
5100	800	CASE	GLOVES, VINYL, SEAMLESS, POWDERLESS, LARGE - Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case.	DAXWELL (F10001750) WALLACE VPF-M2 MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201	Daxwell Distribution	F10001750	1000	800	\$15.21	\$12,168.00		14 business days from receipt of purchase order	AWARD	APPROVED BRAND
5100	800	CASE	GLOVES, VINYL, SEAMLESS, POWDERLESS, LARGE - Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200	DAXWELL (F10001750) WALLACE VPF-MZ MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201	IBS	#VF002	100/BX 1000/CS	800	\$17.92	\$14,336.00		2-3 WEEKS		APPROVED BRAND
5100	800	CASE	GLOVES, VINYL, SEAMLESS, POWDERLESS, LARGE - Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case. SHIP LOT: 200	DAXWELL (F10001750) WALLACE VPF-MZ MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201	Unipak	VPF-L	100/10	800	\$15.30	\$12,240.00		2		SAMPLE SENT ADD AS APPROVED BRAND
5100	800	CASE	GLOVES, VINYL, SEAMLESS, POWDERLESS, LARGE - Large vinyl glove. Fits either hand with a natural color. Approximate pack 100/box, 10 boxes per case. Please bid by the case.	DAXWELL (F10001750) WALLACE VPF-M2 MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201	Boardwalk	BWK315LCT	1000	800	\$25.91	\$20,731.71		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
5100	Column 2	Column 3	Approximate pack 100/box, 10 boxes per case. Please bid by the case.	Column 5 DAXWELL (F10001750) WALLACE VPF-M2 MED PRIDE MEDVGSO61 IBS VF002 JOB SELECT 102-216 TRADEX - V5201	Column 6	Column 7 VF002	10/100	Column 9	\$16.71	Column 11 \$13,368.00	Column 12	Column 13	Column 14	Column 15 APPROVED BRAND
5101	800	CASE	SINGLE PORTION TRAYS, 10 oz., Hinged, 12.5 mil OPS. Approximated Pack 1500/case. SHIP LOT: 200	AMERICAN PAPER & TWINE COMPANY/ PAR PACK (21750) APT/WNA-968729					\$0.00	\$0.00				
5101	800	CASE	SINGLE PORTION TRAYS, 10 oz., Hinged, 12.5 mil OPS. Approximated Pack 1500/case. SHIP LOT: 200	AMERICAN PAPER & TWINE COMPANY/ PAR PACK (21750) APT/WNA-968729	WNA	968729	1350	888	\$105.00	\$84,000.00		2-3 weeksFRO		APPROVED BRAND
5101	800	CASE	Approximated Pack 1500/case.	AMERICAN PAPER & TWINE COMPANY/ PAR PACK (21750) APT/WNA-968729	PARPAK	21750	1350	800	\$91.21	\$72,968.00			AWARD	APPROVED BRAND
5102	800	CASE	STEAM TABLE PAN, DISPOSABLE, ALUMINUM, 3" DEEP, FULL SIZE, Packed 50 per case. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5103 (Lid) and the lowest combined price will prevail. SHIP LOT: 200	WESTERN PLASTICS 5130P SYSCO #5278023, HANDI-FOIL 2019-7, FS DURABLE 7900-100.					\$0.00	\$0.00				
5102	800	CASE	STEAM TABLE PAN, DISPOSABLE, ALUMINUM, 3" DEEP, FULL SIZE, Packed S0 per case. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5103 (Lid) and the lowest combined price will prevail. SHIP LOT: 200	WESTERN PLASTICS 5130P SYSCO #5278023, HANDI-FOIL 2019-7, FS DURABLE 7900-100.	Victoria Bay	34315	50	800	\$38.50	\$30,800.00	We stock these, but will want to get a release forecast to meet demand	2-3 business Days	AWARD	SAMPLE SENT ADD AS APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5102	800	CASE	STEAM TABLE PAN, DISPOSABLE, ALUMINUM, 3" DEEP, FULL SIZE, Packed 50 per case. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5103 (Lid) and the lowest combined price will prevail. SHIP LOT: 200	WESTERN PLASTICS 5130P SYSCO #5278023, HANDI-FOIL 2019-7, FS DURABLE 7900-100.	WESTERN	#5130P	50/CASE	800	\$44.48	\$35,584.00		2-3 WEEKS		APPROVED BRAND
5102	800	CASE		WESTERN PLASTICS 5130P SYSCO #5278023, HANDI-FOIL 2019-7, FS DURABLE 7900-100.	Durable Packaging	DPKFS7900XX	50	800	\$94.62	\$75,697.56		4 weeks		APPROVED BRAND
5102	800	CASE	STEAM TABLE PAN, DISPOSABLE, ALUMINUM, 3" DEEP, FULL SIZE, Packed 50 per case. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5103 (Lid) and the lowest combined price will prevail. SHIP LOT: 200	WESTERN PLASTICS 5130P SYSCO #5278023, HANDI-FOIL 2019-7, FS DURABLE 7900-100.	Western	5130P	50	800	\$41.10	\$32,880.00				APPROVED BRAND
5103	400	CASE	DISPOSABLE PAN LIDS, FOR FULL SIZED PANS. ALUMINUM. FITS PANS SIZED 18 1/16 X 13 5/16 X 3. APPROXIMATELY PACKED 100 PER CASE. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5102 (Pan) and the lowest combined price will prevail. SHIP LOT: 200	WESTERN PLASTICS 5000, SYSCO #4125068, DURABLE 8900-50XX					\$0.00	\$0.00				
5103	400	CASE	DISPOSABLE PAN LIDS, FOR FULL SIZED PANS. ALUMINUM. FITS PANS SIZED 18 1/16 X 13 5/16 X 3. APPROXIMATELY PACKED 100 PER CASE. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5102 (Pan) and the lowest combined price will prevail. SHIP LOT: 200	WESTERN PLASTICS 5000, SYSCO #4125068, DURABLE 8900-50XX	Victoria Bay	34314	50	800	\$17.00	\$6,800.00	We stock these, but will want to get a release forecast to meet demand	2-3 business Days	AWARD	SAMPLE SENT ADD AS APPROVED BRAND
5103	400	CASE	DISPOSABLE PAN LIDS, FOR FULL SIZED PANS. ALUMINUM. FITS PANS SIZED 18 1/16 X 13 5/16 X 3. APPROXIMATELY PACKED 100 PER CASE. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5102 (Pan) and the lowest combined price will prevail. SHIP LOT: 200	WESTERN PLASTICS 5000, SYSCO #4125068, DURABLE 8900-50XX	WESTERN	#5000	50/CASE	400	\$23.65	\$9,460.00		2-3 WEEKS		APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5103	400	CASE	DISPOSABLE PAN LIDS, FOR FULL SIZED PANS. ALUMINUM. FITS PANS SIZED 18 1/16 X 13 5/16 X 3. APPROXIMATELY PACKED 100 PER CASE. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5102 (Pan) and the lowest combined price will prevail. SHIP LOT: 200	WESTERN PLASTICS 5000, SYSCO #4125068, DURABLE 8900-50XX	Durable Packaging	DPK890050XX	50	400	\$45.11	\$18,043.90		4 weeks		APPROVED BRAND
5103	400	CASE	DISPOSABLE PAN LIDS, FOR FULL SIZED PANS. ALUMINUM. FITS PANS SIZED 18 1/16 X 13 5/16 X 3. APPROXIMATELY PACKED 100 PER CASE. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5102 (Pan) and the lowest combined price will prevail. SHIP LOT: 200	WESTERN PLASTICS 5000, SYSCO #4125068, DURABLE 8900-50XX	Western	5000	50	400	\$21.99	\$8,796.00				APPROVED BRAND
5104	300	CASE	Disposible Steamtable Pan Lid. Lid for 1/2 sized pan. Aluminum. Approximately packed 100/cs. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5105 (Pan) and the lowest combined price will prevail. SHIP LOT: 100	WESTERN 5001 PLASTICS (5001) DURABLE 8200-100XX SYSCO 6938211					\$0.00	\$0.00				
5104	300	CASE	Disposible Steamtable Pan Lid. Lid for 1/2 sized pan. Aluminum. Approximately packed 100/cs. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5105 (Pan) and the lowest combined price will prevail.	WESTERN 5001 PLASTICS (5001) DURABLE 8200-100XX SYSCO 6938211	Victoria Bay	34313	100	300	\$17.50	\$5,250.00	We stock these, but will want to get a release forecast to meet demand	2-3 business Days	AWARD	SAMPLE SENT ADD AS APPROVED BRAND
5104	300	CASE	Disposible Steamtable Pan Lid. Lid for 1/2 sized pan. Aluminum. Approximately packed 100/cs. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5105 (Pan) and the lowest combined price will prevail.	WESTERN 5001 PLASTICS (5001) DURABLE 8200-100XX SYSCO 6938211	WESTERN	#5001	100/CASE	300	\$22.11	\$6,633.00		2-3 WEEKS		APPROVED BRAND
5104	300	CASE	Disposible Steamtable Pan Lid. Lid for 1/2 sized pan. Aluminum. Approximately packed 100/cs. For Shelby County Schools to select a successful bidder, pricing must be provided for line Stock #5105 (Pan) and the lowest combined price will prevail. SHIP LOT: 100	WESTERN 5001 PLASTICS (5001) DURABLE 8200-100XX SYSCO 6938211	Durable Packaging	DPK8200100XX	100	300	\$39.46	\$11,839.02		4 weeks		APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
5104	300	Column 3		Column 5 WESTERN 5001 PLASTICS (5001) DURABLE 8200-100XX SYSCO 6938211	Column 6 Western	Column 7 5001	Column 8	300	\$19.99	\$5,997.00	Column 12	Column 13	Column 14	Column 15 APPROVED BRAND
5105	300	CASE	DISPOSABLE STEAMTABLE PAN. 1/2 SIZE PAN. ALUMINUM. APPROXIMATELY PACKED 100/CS. For Shelby County Schools to select a successful bidder, pricing must be provided for line MCS Stock #5104 (Lid) and the lowest combined price will prevail.	DURABLE FS4200-100, WESTERN PLASTICS 5132P SYSCO 6938112.					\$0.00	\$0.00				
5105	300	CASE	DISPOSABLE STEAMTABLE PAN. 1/2 SIZE PAN. ALUMINUM. APPROXIMATELY PACKED 100/CS. For Shelby County Schools to select a successful bidder, pricing must be provided for line MCS Stock #5104 (Lid) and the lowest combined price will prevail. SHIP LOT: 100	DURABLE FS4200-100, WESTERN PLASTICS 5132P SYSCO 6938112.	Victoria Bay	34316	100	300	\$23.50	\$7,050.00	We stock these, but will want to get a release forecast to meet demand	2-3 business Days	AWARD	SAMPLE SENT ADD AS APPROVED BRAND
5105	300	CASE	DISPOSABLE STEAMTABLE PAN. 1/2 SIZE PAN. ALUMINUM. APPROXIMATELY PACKED 100/CS. For Shelby County Schools to select a successful bidder, pricing must be provided for line MCS Stock #5104 (Lid) and the lowest combined price will prevail. SHIP LOT: 100	DURABLE FS4200-100, WESTERN PLASTICS 5132P SYSCO 6938112.	WESTERN	#5132P	100/CASE	300	\$30.28	\$9,084.00		2-3 WEEKS		APPROVED BRAND
5105	300	CASE	DISPOSABLE STEAMTABLE PAN. 1/2 SIZE PAN. ALUMINUM. APPROXIMATELY PACKED 100/CS. For Shelby County Schools to select a successful bidder, pricing must be provided for line MCS Stock #5104 (Lid) and the lowest combined price will prevail. SHIP LOT: 100	DURABLE FS4200-100, WESTERN PLASTICS 5132P SYSCO 6938112.	Durable Packaging	DPKFS4200XX	100	300	\$53.91	\$16,174.39		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5105	300	CASE	DISPOSABLE STEAMTABLE PAN. 1/2 SIZE PAN. ALUMINUM. APPROXIMATELY PACKED 100/CS. For Shelby County Schools to select a successful bidder, pricing must be provided for line MCS Stock #5104 (Lid) and the lowest combined price will prevail. SHIP LOT: 100		Western	5132P	100	300	\$27.41	\$8,223.00				APPROVED BRAND
5107	600	CASE	GLOVES, SEAMLESS, POWDERLESS, VINYL. FITS EITHER HAND. MEDIUM SIZE, NATURAL COLOR. APPROXIMATE PACK 100 PER BOX, 10 BOXES PER CASE. SHIP LOT: 200						\$0.00	\$0.00				

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
5107	Column 2	Column 3	Column 4 GLOVES, SEAMLESS, POWDERLESS, VINYL FITS EITHER HAND. MEDIUM SIZE, NATURAL COLOR. APPROXIMATE PACK 100 PER BOX , 10 BOXES PER CASE. SHIP LOT: 200		Column 6 Amercare 22992	Column 7 47990	10/100	Column 9	\$22.00	\$13,200.00	Column 12	Column 13 2-3 business Days	Column 14	SAMPLE SENT ADD AS APPROVED BRAND
5107	600	CASE	GLOVES, SEAMLESS, POWDERLESS, VINYL. FITS EITHER HAND. MEDIUM SIZE, NATURAL COLOR. APPROXIMATE PACK 100 PER BOX , 10 BOXES PER CASE. SHIP LOT: 200		Daxwell Distribution	F10001748	1000	600	\$15.21	\$9,126.00		14 business days from receipt of purchase order	AWARD	APPROVED BRAND
5107	600	CASE	GLOVES, SEAMLESS, POWDERLESS, VINYL. FITS EITHER HAND. MEDIUM SIZE, NATURAL COLOR. APPROXIMATE PACK 100 PER BOX , 10 BOXES PER CASE. SHIP LOT: 200		IBS	#VF003	100/BX 1000/CS	600	\$17.92	\$10,752.00		2-3 WEEKS		APPROVED BRAND
5107	600	CASE	GLOVES, SEAMLESS, POWDERLESS, VINYL. FITS EITHER HAND. MEDIUM SIZE, NATURAL COLOR. APPROXIMATE PACK 100 PER BOX , 10 BOXES PER CASE. SHIP LOT: 200		Unipak	VPF-M	100/10	600	\$15.30	\$9,180.00		2		SAMPLE SENT ADD AS APPROVED BRAND
5107	600	CASE	GLOVES, SEAMLESS, POWDERLESS, VINYL. FITS EITHER HAND. MEDIUM SIZE, NATURAL COLOR. APPROXIMATE PACK 100 PER BOX , 10 BOXES PER CASE. SHIP LOT: 200		Boardwalk	BWK315MCT	1000	600	\$25.91	\$15,548.78		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5107	600	CASE	GLOVES, SEAMLESS, POWDERLESS, VINYL. FITS EITHER HAND. MEDIUM SIZE, NATURAL COLOR. APPROXIMATE PACK 100 PER BOX , 10 BOXES PER CASE. SHIP LOT: 200		IBS	VF002	10/100	600	\$16.71	\$10,026.00				NO SAMPLE SENT NOT AN APPROVED BRAND
5126	1,000	CASE	DISPOSABLE 9"x9"x3" WHITE FOAM 3-COMPARTMENT HINGED CONTAINER. THREE SEPARATE CHAMBERS FOR NUMEROUS ITEMS TO BE PACKED TOGETHER. DURABLE, STURDY CONSTRUCTION TO RESIST LEAKS, GREASE SOAK THROUGHS AND MOISTURE LEAKS.						\$0.00	\$0.00				
5126	1,000	CASE	CHIP LOT: 200 SHEP LOT: 200 SHEP SHEP "Y9"x3" WHITE FOAM 3-COMPARTMENT HINGED CONTAINER. THREE SEPARATE CHAMBERS FOR NUMEROUS ITEMS TO BE PACKED TOGETHER. DURABLE, STURDY CONSTRUCTION TO RESIST LEAKS, GREASE SOAK THROUGHS AND MOISTURE LEAKS. SHIP LOT: 200		Pactiv 19903	45260	150	1000	\$17.95	\$17,950.00		2-3 business Days	AWARD	APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
5126	1,000		COlumn 4 DISPOSABLE 9"x9"x3" WHITE FOAM 3-COMPARTMENT HINGED CONTAINER. THREE SEPARATE CHAMBERS FOR NUMEROUS ITEMS TO BE PACKED TOGETHER. DURABLE, STURDY CONSTRUCTION TO RESIST LEAKS, GREASE SOAK THROUGHS AND MOISTURE LEAKS.	Column 5 PACTIV - YTD19903	Column 6 PACTIV	Column 7 #YTD19903	Column 8	Column 9	Column 10 \$21.58	Column 11 \$21,580.00	Column 12	Column 13 2-3 WEEKS	Column 14	Column 15 APPROVED BRAND
5126	1,000	CASE	SHIP LOT: 200	PACTIV - YTD19903	Pactiv	PCTYTD199030000	150	1000	\$20.35	\$20,353.66		4 weeks		APPROVED BRAND
5128	600	CASE	CONTAINER, CLEAR, FOUR COMPARTMENT - Clear, 4- cell deli container. To include lid or hinged top. Each compartment with a capacity of at least 7 oz. Please indicate case count. SHIP LOT: 200	PLATINUM PACKAGING GROUP 5-1038-120-700 DARNEL -7524400					\$0.00	\$0.00				
5128	600		CONTAINER, CLEAR, FOUR COMPARTMENT - Clear, 4- cell deli container. To include lid or hinged top. Each compartment with a capacity of at least 7 oz. Please indicate case count. SHIP LOT: 200	PLATINUM PACKAGING GROUP 5-1038-120-700 DARNEL -7524400	Darnel 7524400	Special	200	600	\$45.00	\$27,000.00		2-3 weeksFRO	NO AWARD	Container is not the correct size and does not have a hinged lid. Will rebid.
5128	600	0.405	CONTAINER, CLEAR, FOUR COMPARTMENT - Clear, 4- cell deli container. To include lid or hinged top. Each compartment with a capacity of at least 7 oz. Please indicate case count. SHIP LOT: 200	PLATINUM PACKAGING GROUP 5-1038-120-700 DARNEL -7524400	DARNEL	#752440	200/CASE	600	\$39.23	\$23,538.00		2-3 WEEKS	NO AWARD	Container is not the correct size and does not have a hinged lid. Will rebid.
5129	800	CASE	STRAWS, INDIVIDUALLY WRAPPED - Jumbo, clear wrapped straw. Individually wrapped for sanitation. Ideal for water, juice, and soda. Approximately 7 3/4" in length. Approximate pack: 2000/case. SHIP LOT: 200	No Approved Brands					\$0.00	\$0.00			NO AWARD	
5129	800	CASE	STRAWS, INDIVIDUALLY WRAPPED - Jumbo, clear wrapped straw. Individually wrapped for sanitation. Ideal for water, juice, and soda. Approximately 7 3/4" in length. Approximate pack: 2000/case. SHIP LOT: 200	No Approved Brands	Amercare STNJM1970703	Special	12000	134	\$72.00	\$57,600.00	Please note pack size. These are 12,000 each per case versus the 2000 you have in system. If annual usage is 1.6 million straws, you only need 134 cases of this item to cover that volume, so your spend would be \$9648, not the \$57600 shown in column K	2-3 weeksFRO		

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5129	800	CASE	STRAWS, INDIVIDUALLY WRAPPED - Jumbo, clear wrapped straw. Individually wrapped for sanitation. Ideal for water, juice, and soda. Approximately 7 3/4" in length. Approximate pack: 2000/case. SHIP LOT: 200	No Approved Brands	BERK	#1246200	5000/CASE	800	\$38.90	\$31,120.00		2-3 WEEKS		
5129	800	OAGL	STRAWS, INDIVIDUALLY WRAPPED - Jumbo, clear wrapped straw. Individually wrapped for sanitation. Ideal for water, juice, and soda. Approximately 7 3/4" in length. Approximate pack: 2000/case. SHIP LOT: 200	No Approved Brands	Boardwalk	BWKJSTW775CLR	12000	12000	\$50.45	\$40,360.98		4 weeks		
5139	5,000	CASE	SOUFFLE CUP, 5 - 5.5 OZ - Plastic Soufflé Cup - Clear, heavy duty. Must hold 5ozs. of product. Please see spec for matching lid. Approximately 2 inches in height. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5140 (Lid) and the lowest combined price will prevail. SHIP LOT: 500	DAXWELL E10004471 SOUTH WING 88500WHC KARAT FP-P550-PP					\$0.00	\$0.00				
5139	5,000	CASE	SOUFFLE CUP, 5 - 5.5 OZ - Plastic Soufflé Cup — Clear , heavy duty. Must hold Sozs. of product. Please see spec for matching lid. Approximately 2 inches in height. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5140 (Lid) and the lowest combined price will prevail. SHIP LOT: 500	DAXWELL E10004471 SOUTH WING 88500WHC KARAT FP-P550-PP	Victoria Bay	280055	2500	5000	\$39.00	\$195,000.00	We stock these, but will want to get a release forecast to meet demand	2-3 business Days		SAMPLE SENT ADD AS APPROVED BRAND
5139	5,000	CASE	SOUFFLE CUP, 5 - 5.5 OZ - Plastic Soufflé Cup — Clear , heavy duty. Must hold Sozs. of product. Please see spec for matching lid. Approximately 2 inches in height. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5140 (Lid) and the lowest combined price will prevail.	DAXWELL E10004471 SOUTH WING 88500WHC KARAT FP-P550-PP	Daxwell Distribution	E10004471	2500	5000	\$30.28	\$151,400.00		14 business days from receipt of purchase order	AWARD	APPROVED BRAND
5139	5,000	CASE	SOUFFLE CUP, 5 - 5.5 OZ - Plastic Soufflé Cup — Clear , heavy duty. Must hold Sozs. of product. Please see spec for matching lid. Approximately 2 inches in height. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5140 (Lid) and the lowest combined price will prevail.	DAXWELL E10004471 SOUTH WING 88500WHC KARAT FP-P550-PP	PRIME SOURCE	#1329	2500/CASE	5000	\$47.10	\$235,500.00		2-3 WEEKS		NO SAMPLE SENT NOT AN APPROVED BRAND
5139	5,000	CASE	SOUFFLE CUP, 5 - 5.5 OZ - Plastic Soufflé Cup — Clear, heavy duty. Must hold 50zs. Of product. Please see spec for matching lid. Approximately 2 inches in height. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5140 (Lid) and the lowest combined price will prevail. SHIP LOT: 500	DAXWELL E10004471 SOUTH WING 88500WHC KARAT FP-P550-PP	Boardwalk	BWKPRTN55TS	25000	5000	\$43.83	\$219,146.34		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
5139	5,000	Column 3	Column 4 SOUFFLE CUP, 5 - 5.5 OZ - Plastic Soufflé Cup – Clear , heavy duty. Must hold 5ozs. of product. Please see spec for matching lid. Approximately 2 inches in height. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5140 (Lid) and the lowest combined price will prevail.	DAXWELL E10004471 SOUTH WING 88500WHC KARAT FP-P550-PP	Column 6 SOUTH WING	Column 7	2500	Column 9 5000	Column 10 \$36.45	\$182,250.00	Column 12	Column 13	Column 14	Column 15 APPROVED BRAND
5140	5,000	CASE	LID, SOUFFLE CUP, 5 - 5.5 OZ - Lid, Plastic Soufflé Cup- Clear, recessed lid. Must snap tightly on corresponding 5 oz. soufflé cup that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5139 (Cup) and the lowest combined price will prevail.	DAXWELL E10004470 SOUTH WING (88400WHC) KARAT FP-PL400-PP					\$0.00	\$0.00				
5140	5,000	CASE	SHIP LOT: 500 LID, SOUPFLE CUP, 5 - 5.5 OZ - Lid, Plastic Soufflé Cup- Clear, recessed lid. Must snap tightly on corresponding 5 oz. soufflé cup that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5139 (Cup) and the lowest combined price will prevail.	DAXWELL E10004470 SOUTH WING (88400WHC) KARAT FP-PL400-PP	Victoria Bay	34141	2500	5000	\$29.95	\$149,750.00	We stock these, but will want to get a release forecast to meet demand	2-3 business Days		SAMPLE SENT ADD AS APPROVED BRAND
5140	5,000	CASE	SHIP LOT: 500 LID, SOUFFLE CUP, 5 - 5.5 OZ - Lid, Plastic Soufflé Cup- Clear, recessed lid. Must snap tightly on corresponding 5 oz. soufflé cup that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5139 (Cup) and the lowest combined price will prevail. SHIP LOT: 500	DAXWELL E10004470 SOUTH WING (88400WHC) KARAT FP-PL400-PP	Daxwell Distribution	E10004470	2500	5000	\$20.48	\$102,400.00		14 business days from receipt of purchase order	AWARD	APPROVED BRAND
5140	5,000	CASE	LID, SOUFFLE CUP, 5 - 5.5 OZ - Lid, Plastic Soufflé Cup- Clear, recessed lid. Must snap tightly on corresponding 5 oz. soufflé cup that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5139 (Cup) and the lowest combined price will prevail. SHIP LOT: 500	DAXWELL E10004470 SOUTH WING (88400WHC) KARAT FP-PL400-PP	PRIME SOURCE	#0643	2500/CASE	5000	\$29.72	\$148,600.00		2-3 WEEKS		NO SAMPLE SENT NOT AN APPROVED BRAND
5140	5,000	CASE	LID, SOUFFLE CUP, 5 - 5.5 OZ - Lid, Plastic Soufflé Cup- Clear, recessed lid. Must snap tightly on corresponding 5 oz. soufflé cup that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5139 (Cup) and the lowest combined price will prevail. SHIP LOT: 500	DAXWELL E10004470 SOUTH WING (88400WHC) KARAT FP-PL400-PP	Boardwalk	BWKPRTLID4	2500	5000	\$33.01	\$165,060.98		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
5140	5,000	CASE	LID, SOUFFLE CUP, 5 - 5.5 OZ - Lid, Plastic Soufflé Cup- Clear, recessed lid. Must snap tightly on corresponding 5 oz. soufflé cup that may contain liquid. For Shelby County Board of Education to select a successful bidder, pricing must be provided for line Stock #5139 (Cup) and the lowest combined price will prevail. SHIP LOT: 500	DAXWELL E10004470 SOUTH WING (88400WHC) KARAT FP-PL400-PP	SOUTH WING	SL345	2500	5000	\$24.55	\$122,750.00				NO SAMPLE SENT NOT AN APPROVED BRAND

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4 ELBOW LENGTH CLOTH OVEN MITS - Oven Mitt, Hand	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5141	800	PAIR	shaped, Flame Retardant , Material Cotton, Max. Temp. 400 Degrees F, a minimum of 15 in length. Color Tan or Silver. SHIP LOT: 200	INTEDGE 336-15 BUCCANEER - 15FR-15					\$0.00	\$0.00				
5141	800	PAIR	ELBOW LENGTH CLOTH OVEN MITS - Oven Mitt, Hand shaped, Flame Retardant , Material Cotton, Max. Temp. 400 Degrees F, a minimum of 15 in length. Color Tan or Silver. SHIP LOT: 200	INTEDGE 336-15 BUCCANEER - 15FR-15	Buccaneer 15FR	Special	Pair	800	\$15.00	\$12,000.00		2-3 weeksFRO	AWARD	APPROVED BRAND
5142	2,500	CASE	CUP, SOUP W/LID 12 OZ. LAMINATED PAPER - LAMINATED PAPER MATERIAL. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND REDUCE ABSORPTION AND LEAKS .PACKED APPROXIMATELY 250 PER CASE. SHIP LOT: 500	PACTIV D12RBLD HUTAMAKI 71226 ACTION CHEMICAL L-HUH70412					\$0.00	\$0.00				
5142	2,500	CASE	CUP, SOUP W/LID 12 OZ. LAMINATED PAPER - LAMINATED PAPER MATERIAL. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND REDUCE ABSORPTION AND LEAKS .PACKED APPROXIMATELY 250 PER CASE. SHIP LOT: 500	PACTIV D12RBLD HUTAMAKI 71226 ACTION CHEMICAL L-HUH70412	Pactiv D12RBLD	Special	250	2500	\$33.00	\$82,500.00		2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days	AWARD	APPROVED BRAND
5142	2,500	CASE	CUP, SOUP W/LID 12 OZ. LAMINATED PAPER - LAMINATED PAPER MATERIAL. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND REDUCE ABSORPTION AND LEAKS .PACKED APPROXIMATELY 250 PER CASE. SHIP LOT: 500	PACTIV D12RBLD HUTAMAKI 71226 ACTION CHEMICAL L-HUH70412	HOT PACK	#PSB-FLID	1000/cs	2500	\$93.50	\$233,750.00		2-3 WEEKS		NO SAMPLE SENT NOT AN APPROVED BRAND
5142	2,500	CASE	CUP, SOUP W/LID 12 OZ. LAMINATED PAPER - LAMINATED PAPER MATERIAL. SOAK THROUGH RESISTANT OR OTHER ACCEPTABLE PROCESSING TO ADD RIGIDITY AND REDUCE ABSORPTION AND LEAKS .PACKED APPROXIMATELY 250 PER CASE. SHIP LOT: 500	PACTIV D12RBLD HUTAMAKI 71226 ACTION CHEMICAL L-HUH70412	chinet	HUH70412	250	2500	\$93.35	\$233,384.15		4 weeks		APPROVED BRAND
5146	800	CASE	Tray, Hinged 1-Compartment 8" x 8" x 3" Container - Black 1 Compartment disposable, microwavable square tray container. Black bottom with a clear plastic hinged lid container. BPA free. Packed approximately 100 per case. Ship Lot: 100 cases	No Approved Brand					\$0.00	\$0.00				

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
5146	800	CASE	Tray, Hinged 1-Compartment 8" x 8" x 8" x 3" Container - Black 1 Compartment disposable, microwavable square tray container. Black bottom with a clear plastic hinged lid container. BPA free. Packed approximately 100 per case. Ship Lot: 100 cases	No Approved Brand	Anchor CL8811C	Special	200	400	\$51.00	\$40,800.00	Please note pack size. You would only use 400 cases with spend of \$20,400	2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days	NO AWARD	SAMPLE DID NOT MEET SPEC NOT AN APPROVED BRAND
5146	800	CASE	Tray, Hinged 1-Compartment 8" x 8" x 3" Container - Black 1 Compartment disposable, microwavable square tray container. Black bottom with a clear plastic hinged lid container. BPA free. Packed approximately 100 per case. Ship Lot: 100 cases	No Approved Brand	ANCHOR	#4700811	200/CASE	800	\$52.72	\$42,176.00		2-3 WEEKS	NO AWARD	NO SAMPLE SENT NOT AN APPROVED BRAND
5146	800	CASE	Tray, Hinged 1-Compartment 8" x 8" x 3" Container - Black 1 Compartment disposable, microwavable square tray container. Black bottom with a clear plastic hinged lid container. BPA free. Packed approximately 100 per case. Ship Lot: 100 cases	No Approved Brand	CRYSTALWARE	PP883BLACK	150	533	\$21.88	\$17,504.00			NO AWARD	NO SAMPLE SENT NOT AN APPROVED BRAND
6207	800		Foil Insulated Bag- Made of foil and paper, dead-fold, laminated for insulation. Moisture & grease resistance. Size to be no smaller than 6 %" X 6 %". Size to be appropriate for sandwiches and hamburgers. Approximately 1000 bags per case.	HOUSEKEEPERS SUPPLY/ BROWN (5A04) FISCHER 806 APT 321601					\$0.00	\$0.00				
6207	800	CASE	Foil Insulated Bag- Made of foil and paper, dead-fold, laminated for insulation. Moisture & grease resistance. Size to be no smaller than 6 %" X 6 %". Size to be appropriate for sandwiches and hamburgers. Approximately 1000 bags per case. SHIP LOT: 200	HOUSEKEEPERS SUPPLY/ BROWN (5A04) FISCHER 806 APT 321601	McNairn 321601	41510	1000	800	\$60.00	\$48,000.00		2-3 weeks FRO, oR apt would be willing to stock and it would be 2-3 days		NO SAMPLE SENT NOT AN APPROVED BRAND
6207	800		Foil Insulated Bag- Made of foil and paper, dead-fold, laminated for insulation. Moisture & grease resistance. Size to be no smaller than 6 %" X 6 %". Size to be appropriate for sandwiches and hamburgers. Approximately 1000 bags per case. SHIP LOT: 200	HOUSEKEEPERS SUPPLY/ BROWN (5A04) FISCHER 806 APT 321601	BROWN	#5A04	1000/CS	800	\$34.88	\$27,904.00		2-3 WEEKS	AWARD	APPROVED BRAND
6207	800		Foil Insulated Bag- Made of foil and paper, dead-fold, laminated for insulation. Moisture & grease resistance. Size to be no smaller than 6 %" X 6 %". Size to be appropriate for sandwiches and hamburgers. Approximately 1000 bags per case. SHIP LOT: 200		Boardwalk	BGC300519	1000	800	\$117.40	\$93,921.95		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
6209	10,000	CASE	Napkin Kit, consisting of a spoon, straw, and 10' X 10" (MINIMUM) napkins sealed in plastic. Packed 1000 kits per case. SHIP LOT: 500	DAXWELL (B10003268) DAXWELL (B10003515) PENISULAR PAPER COMPANY 3040231 WALLACE 6013					\$0.00	\$0.00				

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
6209	10,000	CASE	Napkin Kit, consisting of a spoon, straw, and 10' X 10" (MINIMUM) napkins sealed in plastic. Packed 1000 kits per case. SHIP LOT: 500	DAXWELL (B10003268) DAXWELL (B10003515) PENISULAR PAPER COMPANY 3040231 WALLACE 6013	Wallace 6013	Special	1000	10,000	\$13.95	\$139,500.00	We stock these, but will want to get a release forecast to meet demand			APPROVED BRAND
6209	10,000	CASE	Napkin Kit, consisting of a spoon, straw, and 10' X 10" (MINIMUM) napkins sealed in plastic. Packed 1000 kits per case. SHIP LOT: 500	DAXWELL (B10003268) DAXWELL (B10003515) PENISULAR PAPER COMPANY 3040231 WALLACE 6013	Daxwell Distribution	B10003515	1000	10000	\$10.18	\$101,800.00		14 business days from receipt of purchase order	AWARD	APPROVED BRAND
6209	10,000	CASE	Napkin Kit, consisting of a spoon, straw, and 10' X 10" (MINIMUM) napkins sealed in plastic. Packed 1000 kits per case. SHIP LOT: 500	DAXWELL (B10003268) DAXWELL (B10003515) PENISULAR PAPER COMPANY 3040231 WALLACE 6013	BERK	#1173670	1000/CASE	10000	\$14.99	\$149,900.00		2-3 WEEKS		NO SAMPLE SENT NOT AN APPROVED BRAND
6209	10,000	CASE	Napkin Kit, consisting of a spoon, straw, and 10' X 10" (MINIMUM) napkins sealed in plastic. Packed 1000 kits per case. SHIP LOT: 500	DAXWELL (B10003268) DAXWELL (B10003515) PENISULAR PAPER COMPANY 3040231 WALLACE 6013	MinMor Industries-J4F	MM-J4F-6013	1,000	10,000	\$13.33	\$133,300.00	Iniital Lead Time - 30 Days, then it will be a Lead Time of 2 Weeks. 70 Cases/Pallet	2 Weeks		SAMPLE SENT ADD AS APPROVED BRAND
6209	10,000	CASE	Napkin Kit, consisting of a spoon, straw, and 10' X 10" (MINIMUM) napkins sealed in plastic. Packed 1000 kits per case. SHIP LOT: 500		Boardwalk	BWKSCHOOLMWPP	1000	10000	\$18.55	\$185,487.80		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
6213	500	CASE	Single Portion Trays, 12 oz., Hinged. Minimum 12.5 mil OPS. Approximate Pack 200/case. Ship Lots will be adjusted in proportion to bidders pack size. SHIP LOT: 200	HOUSEKEEPERS SUPPLY CO/ PLASCON (17098001)					\$0.00	\$0.00				
6213	500	CASE	Single Portion Trays, 12 oz., Hinged. Minimum 12.5 mil OPS. Approximate Pack 200/case. Ship Lots will be adjusted in proportion to bidders pack size.	HOUSEKEEPERS SUPPLY CO/ PLASCON (17098001)	WNA 9509	Special	500	200	\$59.95	\$29,975.00	Wna item approved last fall, apt was only bidder. Note pack size difference. Spend would really be \$11990 for10,000 pieces	2-3 weeksFRO	NO AWARD	
7009	800	EACH	DIGITAL, BIMETALIC THERMOMETER - Digital waterproof thermometer, 3-inch stem length, antimicrobial sleeve for housing. Temperature range from -40 to 450 fahrenheit. Complies with HACCP recalibration requirements.	TAYLOR 9848EFDA					\$0.00	\$0.00				

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
7009	Column 2	Column 3 EACH	Column 4 DIGITAL, BIMETALIC THERMOMETER - Digital waterproof thermometer, 3-inch stem length, antimicrobial sleeve for housing. Temperature range from -40 to 450 fahrenheit. Complies with HACCP recalibration requirements. SHIP LOT: 200	Column 5 TAYLOR 9848EFDA	Column 6 Taylor 9848EFDA	Column 7 955096	Column 8 Each	Column 9 800	Column 10 \$19.95	\$15,960.00	Column 12	Column 13 2-3 weeksFRO	Column 14 AWARD	Column 15 APPROVED BRAND
7011	400	EACH	THERMOMETER, DRY STORAGE - Dial thermometer, indoor/outdoor wall thermometer. Shatter resistant. SHIP LOT: 200	TAYLOR 5135N					\$0.00	\$0.00				
7011	400	EACH	THERMOMETER, DRY STORAGE - Dial thermometer, indoor/outdoor wall thermometer. Shatter resistant. SHIP LOT: 200	TAYLOR 5135N	Taylor 5135N	Special	Each	400	\$4.95	\$1,980.00		2-3 weeksFRO	AWARD	
7012	600	EACH	GLOVES, CUT RESISTANT, LARGE - Ansi 7, Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Large 18 inch SHIP LOT: 200	No Approved Brands					\$0.00	\$0.00				
7013	400	EACH	GLOVES, CUT RESISTANT, MEDIUM- Ansi 7, Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Medium SHIP LOT: 200	No Approved Brands					\$0.00	\$0.00				
7013	400	EACH	GLOVES, CUT RESISTANT, MEDIUM- Ansi 7, Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Medium SHIP LOT: 200	No Approved Brands	MCR 9345MD	Special	Each	400	\$9.00	\$3,600.00		2-3 weeksFRO	AWARD	
7014	400	EACH	GLOVES, CUT RESISTANT, EXTRA LARGE - Ansi 7, Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Extra Large SHIP LOT: 200	No Approved Brands					\$0.00	\$0.00				
7014	400	EACH	GLOVES, CUT RESISTANT, EXTRA LARGE - Ansi 7, Knit, Cut resistant gloves with ambidextrous features, 11x more abrasion resistance. Size: Extra Large SHIP LOT: 200	No Approved Brands	MCR 9345XLD	Special	Each	400	\$9.00	\$3,600.00		2-3 weeksFRO	AWARD	
7010	200,000	EACH	TEST STRIP - A test strip of a 50 or 100 count for a non- alkaline quaternary ammonium sanitizing solution. The strip must come with a with a color comparison chart that measures between 0-500 ppm. Please indicate how in the notes section how many come in a case. SHIP LOT: 5000	No Approved Brands					\$0.00	\$0.00				

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit/Case	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15
7010	200,000	EACH	TEST STRIP - A test strip of a 50 or 100 count for a non- alkaline quaternary ammonium sanitizing solution. The strip must come with a with a color comparison chart that measures between 0-500 ppm. Please indicate how in the notes section how many come in a case. SHIP LOT: 5000		Spartan 983800	30145	100 box	2000	\$0.65	\$130,000.00	These are sold by the box of 100 each, so a box is \$6.50, but the strips are .65 each. The PPM - 50-400	2-3 business Days		NO SAMPLE SENT NOT AN APPROVED BRAND

MEMPHIS-SHELBY COUNTY SCHOOLS (MSCS) 2023-2024 CHEMICAL BID

Stock Number	Estimated Bid Units 2023-2024	Unit	Description	Vendor	Brand	Product Code	Pack Size	Estimated Number of Cases	Cost per Unit	Extended Total Cost	NOTES	LEAD TIME FROM ORDER (IN WEEKS)	AWARD	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 18	Column 19
			Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.									
5082	800	CASE	MOISTENED AND INDIVIDUALLY WRAPPED.	AFT Sani Pro Wipes 837900-35084 SaniPro Wipes 47889 Taylor 9999NDG						\$ -				
5082	800	CASE	WIPES, SANITIZER FOR THERMOMETERS. PRE- MOISTENED AND INDIVIDUALLY WRAPPED. INDIVIDUALLY PACKAGED, NON-WOVEN TOWELETTES FOR USE WITH THERMOMETERS. APPROX. SIZE 1.0" x 2.5" UNFOLDED, WITH 70% ISOPROPANOL FOR SANITIZING THERMOMETERS, PROBES AND FOOD CONTACT SURFACES. CASE PACK: 10 BOXES OF 100 WIPES. Items must be accompanied by the Safety Data Sheet (SDS).	APT Sani Pro Wipes 837900-35084 SaniPro Wipes 47389 Taylor 9999NDG	APT 35084	47989	100/bx	800	\$ 28.5000	\$ 22,800.00		2-3 business Days	AWARD	APPROVED BRAND
5082	800	CASE	SHIP LOT: 200 WIPES, SANITIZER FOR THERMOMETERS. PRE- MOISTENED AND INDIVIDUALLY WRAPPED. INDIVIDUALLY PACKAGED, NON-WOVEN TOWELETTES FOR USE WITH THERMOMETERS. APPROX. SIZE 1.0" x 2.5" UNFOLDED, WITH 70% ISOPROPANOL FOR SANITIZING THERMOMETERS, PROBES AND FOOD CONTACT SURFACES. CASE PACK: 10 BOXES OF 100 WIPES. Items must be accompanied by the Safety Data Sheet (SOS). SHIP LOT: 200	APT Sani Pro Wipes 837900-35084 SaniPro Wipes 47389 Taylor 9999NDG	GOJO	GOJ902210CT	1000	800	\$ 63.7000	\$ 50,960.00		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
7000	800	CASE	OVEN CLEANER, AEROSOL. Oven, Grill and Stainless Steel Spray Cleaner. Packaged in 6/24 ounce Aerosol cans per case. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100	CLEAN FORCE (8000164) EASY OFF FUME FREE 74017						\$ -				
7000	800	CASE		CLEAN FORCE (8000164) EASY OFF FUME FREE 74017	Easy Off 74017	763361	6	800	\$ 39.5000	\$ 31,600.00		2-3 business Days	AWARD	APPROVED BRAND
7000	800	CASE		CLEAN FORCE (8000164) EASY OFF FUME FREE 74017	EASY OFF FUME FREE	#74017 (#85260)	6/CASE	800	\$ 42.7500	\$ 34,200.00		2-3 WEEKS		APPROVED BRAND

MEMPHIS-SHELBY COUNTY SCHOOLS (MSCS) 2023-2024 CHEMICAL BID

			1								1			1
7000	800	CASE		CLEAN FORCE (8000164) EASY OFF FUME FREE 74017	RECKITT	RAC85261	6	800	\$ 39.0200	\$ 31,216.00		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
7001	800	CASE	GALLONS PER CASE. SANITIZING AND DISINFECTING AGENT. SODIUM HYPOCHLORITE CONTENT MUST BE A MININUMUM OF 6.25 PERCENT. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100	CLOROX 02490 VERTEX CSS-5						\$ -				
7001	800	CASE	GALLONS PER CASE. SANITIZING AND DISINFECTING AGENT. SODIUM HYPOCHLORITE CONTENT MUST BE A MININIMUM DO 6.25 PERCENT. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100	CLOROX 02490 VERTEX CSS-5	Clorox	744459	3	600	\$ 22.5000	\$ 18,000.00	note pack size, this is 121 ounce concentrate and when diluted would reduce your spend by at least 200 cases, so real spend is \$13500.00 per year.	2-3 business Days		APPROVED BRAND
7001	800	CASE	BLEACH, DISINFECTANT - APPROXIMATE PACK 6 GALLONS PER CASE. SANITZING AND DISINFECTING AGENT. SODIUM HYPOCHLORITE CONTENT MUST BE A MINIMUM OF 6.25 PERCENT. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100	CLOROX 02490 VERTEX CSS-S	VERTEX	#CSS-5	6 GAL/CASE	800	\$ 18.6000	\$ 14,880.00		2-3 WEEKS	AWARD	APPROVED BRAND
7001	800	CASE	BLEACH. DISINFECTANT - APPROXIMATE PACK 6 GALLONS PER CASE. SANITZING AND DISINFECTING AGENT. SOUIUM HYPOCHLORITE CONTENT MUST BE A MINIMUM OF 6.25 PERCENT. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100	CLOROX 02490 VERTEX CSS-5	clorox	CL030966CT	3	800	\$ 22.7600	\$ 18,208.00		4 Weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
7002	1,200	CASE	WIPES, DISINFECTANT, BUCKET OR CANISTER. DISINFECTANTS WIPES FOR FOOD CONTACT SURFACES, HARD, NON-POROUS SURFACES, AND AIDS IN THE REDUCTION OF CROSS CONTAMINATION OF TREATED SURFACES. APPROXIMATE SHEET SUZE 8.0" x 6.25". CASE PACK: APPROXIMATELY 1600 SHEETS. Items must be accompanied by the Safety Data Sheet (SDS). Ship Lot: 200	indsutrial Sales SW1400 GOIO 1114764						\$ -				
7002	1,200	CASE		indsutrial Sales SW1400 GOIO 1114764	Gojo 1114764	1114764	6	1200	\$ 53.0000	\$ 63,600.00		2-3 weeksFRO	AWARD	APPROVED BRAND
7002	1,200	CASE		indsutrial Sales SW1400 GOIO 1114764	GOJO	#9341-06	CASE	1200	\$ 58.9000	\$ 70,680.00		2-3 WEEKS		NO SAMPLE SENT NOT AN APPROVED BRAND

MEMPHIS-SHELBY COUNTY SCHOOLS (MSCS) 2023-2024 CHEMICAL BID

7003	600	CASE		PROCTOR & GAMBLE 02120 APT 90005/972689						s -				
7003	600	CASE		PROCTOR & GAMBLE 02120 APT 90005/972689	APT90005	972689	1 case	600	\$ 54.0000	\$ 32,400.00	SCSB has been ordering 500 cases at a time, this is the price to contiue doing that.	2-3 weeksFRO	AWARD	APPROVED BRAND
7003	600	CASE		PROCTOR & GAMBLE 02120 APT 90005/972689	PROCTOR & GAMBLE	#02120	CASE	600	\$ 71.8500	\$ 43,110.00		2-3 WEEKS		APPROVED BRAND
7003	600	CASE		PROCTOR & GAMBLE 02120 APT 90005/972689	Cream Suds	JOY43610		600	\$ 71.6098	\$ 42,965.85		4 weeks		NO SAMPLE SENT NOT AN APPROVED BRAND
7004	800	CASE	GARBAGE CAN DISENFECTING SPRAY - 6 - 1/2 Gallons per case. Must include applicable spray(er) top for use with this product. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100	HOUSEKEEPERS SUPPLY CO. GARBAGE CAN SPRAY (5279-05K)						\$ -				
7004	800	CASE	GARBAGE CAN DISENFECTING SPRAY - 6 - 1/2 Gallons per case. Must include applicable spray(er) top for use with this product. Items must be accompanied by the Safety Data Sheet (SDS). SHIP LOT: 100	HOUSEKEPERS SUPPLY CO. GARBAGE CAN SPRAY (5279-05K)	HOUSEKEEPERS SUPPLY	#5279-05K	6-1/2 GALLONS PER CASE	800	\$ 41.9400	\$ 33,552.00		2-3 WEEKS	AWARD	APPROVED BRAND